ATTACHMENT

#1



March 14, 2012

1 _ .

Honorable Brian Lee County Judge Titus County 100 West First Street, Ste 200 Mt. Pleasant, TX 75455

RE: FM 2348

Limits: From US 67 at FM 1001, South to SH 49 Construction of a New Location Freeway Facility Consisting of Grading, Structures, Base, Surfacing, Signals and Pavement Markings TxDOT CSJ No: 2249-01-012 RECOMMENDATION OF AWARD

Dear Judge Lee:

On February 21, 2012, PTP Transportation (PTP), on behalf of Titus County, advertised for bids for the above referenced project. On Tuesday, March 13, 2012, Titus County accepted bids. A total of six bids were received and PTP publicly read the bid submittals. Upon review of the bids, PTP has determined that H. H. Howard and Sons, Inc. is the lowest and most responsive bidder with a bid amount of \$8,512,733.79. For your review, I have attached the bid analysis and the Request for Concurrence, which was submitted to the Texas Department of Transportation on March 14, 2012.

Please accept this letter as my official recommendation that Titus County Commissioners Court award this contract to H. H. Howard and Sons, Inc. After official action by the Commissioners Court, execution of the attached contract and submission of all required bond documentation by H. H. Howard and Sons, Inc., PTP will, on behalf of the Titus County, issue a Notice to Proceed. Please return the executed copy of the H. H. Howard and Sons, Inc. contract to PTP for further processing.

If you have any further questions, please do not hesitate to contact me.

Very truly yours,

unie D Faraborelle

Jennie N. Taraborelli Program Manager



CONTRACT

§

THE STATE OF TEXAS

TITUS COUNTY §

THIS AGREEMENT is made this 13^{17} day of <u>March</u>, 2012, by and between Titus County, Texas, a political subdivision of the State of Texas, hereinafter called, "COUNTY" and <u>14. H. Howard + Sons, Inc.</u>

a <u>General</u> <u>Contractor</u>, whose principal place of business is located at <u>738</u> <u>CR 3335</u> <u>Dainger Cield</u>, <u>TX 75638</u>, and is hereinafter called "Contractor."

WHEREAS, COUNTY has awarded to Contractor a contract for the construction of a Public Works Project generally described as <u>THE CONSTRUCTION OF A NEW</u> <u>LOCATION NON-FREEWAY FACILITY CONSISTING OF GRADING,</u> <u>STRUCTURES, BASE, SURFACING, SIGNALS AND PAVEMENT MARKINGS FROM</u> <u>US 67 AT FM 1001, SOUTH TO SH 49, FM 2348</u> and being more particularly described in the plans and specifications accompanying this agreement, and;

WHEREAS, Contractor has agreed to construct such Public Works project in conformity with the plans and specifications and to supply all necessary labor and materials at the prices set forth in the bid form submitted by Contractor and accompanying this agreement;

NOW THEREFORE be it agreed by COUNTY and contractor as follows:

- 1. The following documents attached hereto and accompanying this agreement are incorporated herein, and the provisions set forth therein shall become a part of this agreement:
 - a. Notice to Bidders
 - b. Contractor's Bid Form
 - c. General Provisions and Attachments
 - d. Special provisions
 - e. Technical Provisions including all Plans, Specifications and Technical Requirements
 - f. Contractor's Performance and Payment Bonds
- 2. It is expressly understood and agreed that COUNTY has available the total maximum sum of funds hereinafter certified available by its COUNTY Auditor for the purpose of satisfying County's obligations under the terms and provisions of this agreement; that notwithstanding anything to the contrary or that may be construed to the contrary, the liability of County is limited to said sum, plus

additional amounts of funds from time to time certified, available for the purpose of satisfying County's obligations under the terms and provisions of this agreement. Should County, without cause, fail or refuse to pay Contractor any consideration due under this agreement or fail to refuse to appropriate such additional funds, if any, as may be required to complete the contract work, then the sole and exclusive remedy of Contractor shall be to terminate this agreement and take possession of any goods or materials not then complete in place and for which County had not previously paid the consideration established under this agreement.

3. This Contract, including all items listed under Number 1, contains the whole agreement between the conditions, or collateral agreements, other than those expressly set forth herein.

Effective as of the date first written hereinabove.

CONTRACTOR	Do 11 /	2 N.	
BY:	(a) Howa		
NAME:	Pat Howard		
TITLE:	President	- -	
COMPANY:	H.H. Howard & Sons, Inc.		,

(If this Contract is with a Corporation, it must be executed by an officer thereof and the seal of the Corporation impressed.)

TITUS COUNTY, TEXAS

TITUS COUNTY JUDGE

AUDITOR'S CERTIFICATE

I do certify that funds are available in the amount of \$______to pay the obligation of County under and within the foregoing Agreement.

SIGNED this ______ day of ______, 20____.

TITUS COUNTY AUDITOR

NOTICE OF ASSIGNMENT OF CONSTRUCTION MANAGEMENT SERVICES

Titus County has assigned the construction management services of this project to PTP Transportation, LLC. Any and all contract administration correspondence, should be directed to PTP Transportation, LLC at the following address:

Mrs. Jennie N. Taraborelli Program Manager P. O. Box 9389 The Woodlands, TX 77387 <u>tituscounty@ptp.net</u>

ACKNOWLEDGEMENT

CORPORATE

THE STATE OI	Texas	<u> </u>	
COUNTY OF	Morris	ş	

BEFORE ME, the undersigned authority, this day personally appeared known to me to be the

of the H. H. Howard + Sons, Inc. President

Corporation, who being by me first duly sworn, deposed and said that he/she had executed the above and foregoing Document in the capacity stated as the authorized act and deed of said Corporation.

(ANTRO)	MICHELLE HOWARD
	MOTARY PUBLIC STATE OF TEXAS
	02-01-2014

Michelle Haward
NOTARY PUBLIC
Printed Name: Michelle Howard

Commission Expires: $0 \ge -0/- \ge 0/4$



PARTNERSHIP

THE STATE OF ______§

COUNTY OF §

BEFORE ME, the undersigned authority, this day personally appeared _____

, a General Partner of the _____

Partnership, who being by me first duly sworn, deposed and said that he/she had executed the above and foregoing Document in the capacity stated as the authorized act and deed of said Partnership.

NOTARY PUBLIC

Printed Name:

Commission Expires:_____

INDIVIDUAL OR SOLE PROPRIETORSHIP

THE STATE OF ______§

COUNTY OF ______§

BEFORE ME, the undersigned authority, this day personally appeared _____

an individual doing business as

, who being by me first duly sworn, deposed and said that he/she had executed the above and foregoing Document in the capacity stated and for the purposes and consideration set forth therein.

NOTARY PUBLIC

Printed Name:

Commission Expires:

*EXECUTE APPROPRIATE ACKNOWLEDGMENT FOR CORPORATION, PARTNERSHIP OR INDIVIDUAL CONTRACTOR.



March 14, 2012

Mr. Robert Ratcliff, P.E. District Engineer Texas Department of Transportation 701 East Main Street (FM 249) Atlanta, Texas 75551

 RE: FM 2348
 Limits: US 67 at FM 1001, South to SH 49
 Construction of a New Location Freeway Facility Consisting of Grading, Structures, Base, Surfacing, Signals and Pavement Markings TxDOT CSJ No: 2249-01-012
 CONCURRENCE OF AWARD

Mr. Radcliff:

Titus County received bids for the above referenced project on March 13, 2012. The engineer's estimate for this project was \$10,654,798.69. Six bids were received. The lowest and most responsive bidder was H. H. Howard and Sons, Inc. with a total bid amount of \$8,512,733.79. For your review, I have attached the bid analysis.

As you can see from the attached analysis, five bidders were below the engineer's estimate. The deviation between the engineer's estimate and the low bid was approximately 20.10%. The variation in price for excavation, embankment and mobilization contributed to this deviation. This group of bidders, specifically the low bidder - H.H. Howard and Sons, has local knowledge that would allow such aggressive pricing. Titus County respectfully requests TxDOT to concur on the award to H. H. Howard and Sons, Inc.

If you have any questions, please do not hesitate to contact me at (713) 515-2686.

Very truly yours,

une N Daraboulli

Jennie N. Taraborelli Program Manager

Bid Summary

Г

Rank	Contractor Name	Bid Total
1	H. H. Howard & Sons	\$8,512,733.79
2	JW Payne Construction, LLC	\$9,314,000.00
3	Longview Bridge and Road, Ltd.	\$9,367,547.69
4	TJ Lambrecht Construction	\$10,110,000.00
5	James Construction Group	\$10,480,790.79
6	East Texas Bridge, Inc.	\$11,854,808.22
7	Engineer's Estimate	\$10,654,798.69

ltem	Description		Price	Qty	Unit	Ext. Amount	Deviation
100 2002	PREP ROW		\$300.00	163.74	STA	\$49,122.00	
	58.33%	H. H. Howard & Sons	\$475.00	163.74	STA	\$77,776.50	\$28,654.50
	58.33%	JW Payne Construction, LLC	\$475.00	163.74	STA	\$77,776.50	\$28,654.50
	141.67%	Longview Bridge and Road, Ltd.	\$725.00	163.74	STA	\$118,711.50	\$69,589.50
.	433.33%	TJ Lambrecht Construction	\$1,600.00	163.74	STA	\$261,984.00	\$212,862.00
1,1	126.67%	James Construction Group	\$3,680.00	163.74	STA	\$602,563.20	\$553,441.20
	650.00%	East Texas Bridge, Inc.	\$2,250.00	163.74	STA	\$368,415.00	\$319,293.00
104 2017	REMOVING CC	ONC (DRIVEWAYS)	\$6.50	214.00	SY	\$1,391.00	
	-23.08%	H. H. Howard & Sons	\$5.00	214.00	SY	\$1,070.00	-\$321.00
	-19.23%	JW Payne Construction, LLC	\$5.25	214.00	SY	\$1,123.50	-\$2 67.50
	38.46%	Longview Bridge and Road, Ltd.	\$9.00	214.00	SY	\$1,926.00	\$535.00
	23.08%	TJ Lambrecht Construction	\$8.00	214.00	SY	\$1,712.00	\$321.00
	23.08%	James Construction Group	\$8.00	214.00	SY	\$1,712.00	\$321.00
	84.62%	East Texas Bridge, Inc.	\$12.00	214.00	SY	\$2,568.00	\$1,177.00
110 2001	EXCAVATION (-	\$5.00	206,042.00	CY	\$1,030,210.00	
	-61.00%	H. H. Howard & Sons	\$1.95	206,042.00	CY	\$401,781.90	-\$628,428.10
	-55.00%	JW Payne Construction, LLC	\$2.25	206,042.00	CY	\$463,594.50	-\$566,615.50
	-45.00%	Longview Bridge and Road, Ltd.	\$2.75	206,042.00	CY	\$566,615.50	-\$463,594.50
	-54.00%	TJ Lambrecht Construction	\$2.30	206,042.00	CY	\$473,896.60	-\$556,313.40
	-40.00%	James Construction Group	\$3.00	206,042.00	CY	\$618,126.00	-\$412,084.00
	-20.00%	East Texas Bridge, Inc.	\$4.00	206,042.00	CY	\$824,168.00	-\$206,042.00
132 2006	EMBANKMENT	(FINAL) (DENS CONT) (TY C)	\$5.00	317,882.00	CY	\$1,589,410.00	· • ·
	-47.00%	H, H. Howard & Sons	\$2.65	317,882.00	CY	\$842,387.30	-\$747,022.70
	-40.00%	JW Payne Construction, LLC	\$3.00	317,882.00	CY	\$953,646.00	-\$635,764.00
	-41.00%	Longview Bridge and Road, Ltd.	\$2.95	317,882.00	CY	\$937,751.90	-\$651,658.10
	-19.00%	TJ Lambrecht Construction	\$4.05	317,882.00	CY	\$1,287,422.10	-\$301,987.90
	-37.00%	James Construction Group	\$3.15	317,882.00	CY	\$1,001,328.30	-\$588,081.70
	15.00%	East Texas Bridge, Inc.	\$5.75	317,882.00	CY	\$1,827,821.50	\$238,411.50
150 2002	BLADING	•	\$150.00	20.00	HR	\$3,000.00	
	-33.33%	H. H. Howard & Sons	\$100.00	20.00	HR	\$2,000.00	-\$1,000.00

.

.

item	Description		Price		Qty	Unit	Ext. Amount	Deviation
	-30.00%	JW Payne Construction, LLC	\$105	5.00	20.00	HR	\$2,100.00	-\$900.00
	-50.00%	Longview Bridge and Road, Ltd.	\$75	5.00	20.00	HR	\$1,500.00	-\$1,500.00
	-20.00%	TJ Lambrecht Construction	\$120	00.0	20.00	HR	\$2,400.00	-\$600.00
	-40.00%	James Construction Group	\$90	0.00	20.00	HR	\$1,800.00	-\$1,200.00
	33.33%	East Texas Bridge, Inc.	\$200	0.00	20.00	HR	\$4,000.00	\$1,000.00
162 2005	MULCH SODDING			00.0	38,870.00	CY	\$388,700.00	
	-52.50%	H. H. Howard & Sons	\$∠	1.75	38,870.00	CY	\$184,632.50	-\$204,067.50
	-52.50%	JW Payne Construction, LLC	\$4	1.75	38,870.00	CY	\$184,632.50	-\$204,067.50
	-40.00%	Longview Bridge and Road, Ltd.	\$6	6.00	38,870.00	CY	\$233,220.00	-\$155,480.00
	-30.00%	TJ Lambrecht Construction	\$7	7.00	38,870.00	CY	\$272,090.00	-\$116,610.00
	-40.00%	James Construction Group	\$6	6.00	38,870.00	CY	\$233,220.00	-\$155,480.00
	10.00%	East Texas Bridge, Inc.	\$1 [.]	00.1	38,870.00	CY	\$427,570.00	\$38,870.00
164 2013		ED (PERM) (RURAL) (SANDY)	\$0).25	318,515.00	SY	\$79,628.75	
	-28.00%	H. H. Howard & Sons	\$().18	318,515.00	SY	\$57,332.70	-\$22,296.05
	-28.00%	JW Payne Construction, LLC	\$().18	318,515.00	SY	\$57,332.70	-\$22,296.05
	-24.00%	Longview Bridge and Road, Ltd.	\$().19	318,515.00	SY	\$60,517.85	-\$19,110.90
	-20.00%	TJ Lambrecht Construction	\$().20	318,515.00	SY	\$63,703.00	-\$15,925.75
	-28.00%	James Construction Group	\$0).18	318,515.00	SY	\$57,332.70	-\$22,296.05
	-20.00%	East Texas Bridge, Inc.	\$().20	318,515.00	SY	\$63,703.00	-\$15,925.75
164 2047	STRAW OR HAY MULCH S	EED (TEMP)(WARM)	\$(0.10	159,258.00	SY	\$15,925.80	
	70.00%	H. H. Howard & Sons	\$0).17	159,258.00	SY	\$27,073.86	\$11,148.06
	70.00%	JW Payne Construction, LLC	\$().17	159,258.00	SY	\$27,073.86	\$11,148.06
	70.00%	Longview Bridge and Road, Ltd.	\$().17	159,258.00	SY	\$27,073.86	\$11,148.06
	100.00%	TJ Lambrecht Construction	\$().20	159,258.00	SY	\$31,851.60	\$15,925.80
	70.00%	James Construction Group	\$0).17	159,258.00	SY	\$27,073.86	\$11,148.06
	90.00%	East Texas Bridge, Inc.	\$().19	159,258.00	SY	\$30,259.02	\$14,333.22
164 2049	STRAW OR HAY MULCH S	EED (TEMP)(COOL)	\$0).10	159,258.00	SY	\$15,925.80	
	60.00%	H. H. Howard & Sons	\$().16	159,258.00	SY	\$25,481.28	\$9,555.48
	60.00%	JW Payne Construction, LLC	\$().16	159,258.00	SY	\$25,481.28	\$9,555.48
	70.00%	Longview Bridge and Road, Ltd.	\$0).17	159,258.00	SY	\$27,073.86	\$11,148.06
	100.00%	TJ Lambrecht Construction	\$().20	159,258.00	SY	\$31,851.60	\$15,925.80
	60.00%	James Construction Group	\$().16	159,258.00	SY	\$25,481.28	\$9,555.48
	80.00%	East Texas Bridge, Inc.	\$0),18	159,258.00	SY	\$28,666.44	\$12,740.64
168 2001	VEGETATIVE WATERING		\$10	00.0	5,672.00	MG	\$56,720.00	
	-70.00%	H. H. Howard & Sons	\$3	3.00	5,672.00	MG	\$17,016.00	-\$39,704.00
	-70.00%	JW Payne Construction, LLC		3.00	5,672.00	MG	\$17,016.00	-\$39,704.00
	-70.00%	Longview Bridge and Road, Ltd.		3.00	5,672.00	MG	\$17,016.00	-\$39,704.00
	60.00%	TJ Lambrecht Construction		6.00	5,672.00	MG	\$90,752.00	\$34,032.00
	20.00%	James Construction Group		2.00	5,672.00	MG	\$68,064.00	\$11,344.00
	20.00%	East Texas Bridge, Inc.		2.00	5,672.00	MG	\$68,064.00	\$11,344.00
169 2001	RETENTION BLANKETS (C			0.90	53,945.00	SY	\$48,550.50	

.

ltem	Description		Price	Qty	Unit	Ext. Amount	Deviation
	-22.22%	H. H. Howard & Sons	\$0.70	53,945.00	SY	\$37,761.50	-\$10,789.00
	-24.44%	JW Payne Construction, LLC	\$0.68	53,945.00	SY	\$36,682.60	-\$11,867.90
	-22.22%	Longview Bridge and Road, Ltd.	\$0.70	53,945.00	SY	\$37,761.50	-\$10,789.00
	11.11%	TJ Lambrecht Construction	\$1.00	53,945.00	SY	\$53,945.00	\$5,394.50
	-11.11%	James Construction Group	\$0.80	53,945.00	SY	\$43,156.00	-\$5,394.50
	11.11%	East Texas Bridge, Inc.	\$1.00	53,945.00	SY	\$53,945.00	\$5,394.50
247 2223	FL BS (CMP IN PLC) (TY A GR 4) (10")	\$12.50	83,106.00	SY	\$1,038,825.00	
	-12.00%	H. H. Howard & Sons	\$11.00	83,106.00	SY	\$914,166.00	-\$124,659.00
	-4.00%	JW Payne Construction, LLC	\$12.00	83,106.00	SY	\$997,272.00	-\$41,553.00
	12.00%	Longview Bridge and Road, Ltd.	\$14.00	83,106.00	SY	\$1,163,484.00	\$124,659.00
	-9.60%	TJ Lambrecht Construction	\$11.30	83,106.00	SY	\$939,097.80	-\$99,727.20
	8.00%	James Construction Group	\$13.50	83,106.00	SY	\$1,121,931.00	\$83,106.00
	-4.00%	East Texas Bridge, Inc.	\$12.00	83,106.00	SY	\$997,272.00	-\$41,553.00
251 2035	REWORK BS MTL (TY	' D) (6") (DENS CONT)	\$6.00	1,250.00	SY -	\$7,500.00	
	-75.00%	H. H. Howard & Sons	\$1.50	1,250.00	SY	\$1,875.00	-\$5,625.00
	-73.33%	JW Payne Construction, LLC	\$1.60	1,250.00	SY	\$2,000.00	-\$5,500.00
	-75.00%	Longview Bridge and Road, Ltd.	\$1.50	1,250.00	SY	\$1,875.00	-\$5,625.00
	-66.67%	TJ Lambrecht Construction	\$2.00	1,250.00	SY	\$2,500.00	-\$5,000.00
	-71.67%	James Construction Group	\$1.70	1,250.00	SY	\$2,125.00	-\$5,375.00
	-16.67%	East Texas Bridge, Inc.	\$5.00	1,250.00	SY	\$6,250.00	-\$1,250.00
265 2002	LIME (HYDRATED (SL	URRY)	\$140.00	1,309.00	TON	\$183,260.00	
	14.29%	H. H. Howard & Sons	\$160.00	1,309.00	TON	\$209,440.00	\$26,180.00
	1 4.29%	JW Payne Construction, LLC	\$160.00	1,309.00	TON	\$209,440.00	\$26,180.00
	21.43%	Longview Bridge and Road, Ltd.	\$170.00	1,309.00	TON	\$222,530.00	\$39,270.00
	17.86%	TJ Lambrecht Construction	\$165.00	1,309.00	TON	\$215,985.00	\$32,725.00
	7.14%	James Construction Group	\$150.00	1,309.00	TON	\$196,350.00	\$13,090.00
	17.86%	East Texas Bridge, Inc.	\$165.00	1,309.00	TON	\$53,945.00 \$43,156.00 \$53,945.00 \$914,166.00 \$997,272.00 \$1,163,484.00 \$939,097.80 \$1,121,931.00 \$997,272.00 \$1,875.00 \$2,000.00 \$1,875.00 \$2,200.00 \$1,875.00 \$2,125.00 \$6,250.00 \$183,260.00 \$209,440.00 \$209,440.00 \$222,530.00 \$215,985.00	\$32,725.00
265 2016	LFA TREAT SUBGRAI	DE (8")	\$2.90	84,860.00	SY	\$246,094.00	
	-13.79%	H. H. Howard & Sons	\$2.50	84,860.00	SY	\$212,150.00	-\$33,944.00
	-13.79%	JW Payne Construction, LLC	\$2.50	84,860.00	SY	\$212,150.00	-\$33,944.00
	-41.38%	Longview Bridge and Road, Ltd.	\$1.70	84,860.00	SY	\$144,262.00	-\$101,832.00
	-17.24%	TJ Lambrecht Construction	\$2.40	84,860.00	SY		-\$42,430.00
	-10.34%	James Construction Group	\$2.60	84,860.00	SY	\$220,636.00	-\$25,458.00
	-5.17%	East Texas Bridge, Inc.	\$2.75	84,860.00	SY		-\$12,729.00
265 9998	FLY ASH (CLASS FS (\$65.00	2,616.00	TON	-	•
	-38.46%	H. H. Howard & Sons	\$40.00	2,616.00	TON	-	-\$65,400.00
	-38.46%	JW Payne Construction, LLC	\$40.00	2,616.00	TON	-	-\$65,400.00
	-20.00%	Longview Bridge and Road, Ltd.	\$52.00	2,616.00	TON		-\$34,008.00
	-46.15%	TJ Lambrecht Construction	\$35.00	2,616.00	TON		-\$78,480.00
	-46.15%	James Construction Group	\$35.00	2,616.00	TON		-\$78,480.00
	-38.46%	East Texas Bridge, Inc.	\$40.00	2,616.00	TON	-	-\$65,400.00

ltem	Description		Price	Qty	Unit	Ext. Amount	Deviation
265 9999	LFA TREAT SUBGRADE (10")		\$3.50	37,280.00	SY	\$130,480.00	
	-28.57%	H. H. Howard & Sons	\$2.50	37,280.00	SY	\$93,200.00	-\$37,280.00
	-28.57%	JW Payne Construction, LLC	\$2.50	37,280.00	SY	\$93,200.00	-\$37,280.00
	-42.86%	Longview Bridge and Road, Ltd.	\$2.00	37,280.00	SY	\$74,560.00	-\$55,920.00
	-17.14%	TJ Lambrecht Construction	\$2.90	37,280.00	SY	\$108,112.00	-\$22,368.00
	14.29%	James Construction Group	\$4.00	37,280.00	SY	\$149,120.00	\$18,640.00
	-18.57%	East Texas Bridge, Inc.	\$2.85	37,280.00	SY	\$106,248.00	-\$24,232.00
305 2032	SALV HAUL & STKPL RCL APH P	V (6")	\$2.00	36,458.00	SY	\$72,916.00	
	-15.00%	H. H. Howard & Sons	\$1.70	36,458.00	SY	\$61,978.60	-\$10,937.40
	-50.00%	JW Payne Construction, LLC	\$1.00	36,458.00	SY	\$36,458.00	-\$36,458.00
	-5.00%	Longview Bridge and Road, Ltd.	\$1.90	36,458.00	SY	\$69,270.20	-\$3,645.80
	-7.50%	TJ Lambrecht Construction	\$1.85	36,458.00	SY	\$67,447.30	-\$5,468.70
	-45.00%	James Construction Group	\$1.10	36,458.00	SY	\$40,103.80	-\$32,812.20
	75.00%	East Texas Bridge, Inc.	\$3.50	36,458.00	SY	\$127,603.00	\$54,687.00
310 2001	PRIME COAT (MC - 30)		\$4.75	30,336.00	GAL	\$144,096.00	
	-5.26%	H. H. Howard & Sons	\$4.50	30,336.00	GAL	\$136,512.00	-\$7,584.00
	-5.26%	JW Payne Construction, LLC	\$4.50	30,336.00	GAL	\$136,512.00	-\$7,584.00
	-4.21%	Longview Bridge and Road, Ltd.	\$4.55	30,336.00	GAL	\$138,028.80	-\$6,067.20
	5.26%	TJ Lambrecht Construction	\$5.00	30,336.00	GAL	\$151,680.00	\$7,584.00
	-15.79%	James Construction Group	\$4.00	30,336.00	GAL	\$121,344.00	-\$22,752.00
	5.26%	East Texas Bridge, Inc.	\$5.00	30,336.00	GAL	\$151,680.00	\$7,584.00
316 2002	ASPH (AC - 10)	2 .	\$3.10	35,101.00	GAL	\$108,813.10	, , , - , - ,
	29.03%	H. H. Howard & Sons	\$4.00	35,101.00	GAL	\$140,404.00	\$31,590.90
	29.03%	JW Payne Construction, LLC	\$4.00	35,101.00	GAL	\$140,404.00	\$31,590.90
	12.90%	Longview Bridge and Road, Ltd.	\$3.50	35,101.00	GAL	\$122,853.50	\$14,040.40
	29.03%	TJ Lambrecht Construction	\$4.00	35,101.00	GAL	\$140,404.00	\$31,590.90
	-3.23%	James Construction Group	\$3.00	35,101.00	GAL	\$105,303.00	-\$3,510.10
	29.03%	East Texas Bridge, Inc.	\$4.00	35,101.00	GAL	\$140,404.00	\$31,590.90
316 2125	AGGR (TY - PB GR - 4 SAC - A)	0	\$75.00	678.00	CY	\$50,850.00	· · · · · · · · · · · · · · · · · · ·
	6.67%	H. H. Howard & Sons	\$80.00	678.00	CY	\$54,240.00	\$3,390.00
	-6.67%	JW Payne Construction, LLC	\$70.00	678.00	CY	\$47,460.00	-\$3,390.00
	12.00%	Longview Bridge and Road, Ltd.	\$84.00	678.00	CY	\$56,952.00	\$6,102.00
	-6.67%	TJ Lambrecht Construction	\$70.00	678.00	ĊY	\$47,460.00	-\$3,390.00
	0.00%	James Construction Group	\$75.00	678.00	ĊY	\$50,850.00	\$0.00
	-6.67%	East Texas Bridge, Inc.	\$70.00	678.00	ĊY	\$47,460.00	-\$3,390.00
316 2221	AGGR (TY - PB GR - 3 SAC - B)		\$75.00	1,115.00	CY	\$83,625.00	40,000,00
•	6.67%	H, H, Howard & Sons	\$80.00	1,115.00	ĊY	\$89,200.00	\$5,575.00
	-6.67%	JW Payne Construction, LLC	\$70.00	1,115.00	CY	\$78,050.00	-\$5,575.00
	20.00%	Longview Bridge and Road, Ltd.	\$90.00	1,115.00	CY	\$100,350.00	\$16,725.00
	-6.67%	TJ Lambrecht Construction	\$70.00	1,115.00	CY	\$78,050.00	-\$5,575.00
	0.00%	James Construction Group	\$75.00	1,115.00	CY	\$83,625.00	\$0.00

4

Item	Description		Price	Qty	Unit	Ext. Amount	Deviation
	-6.67%	East Texas Bridge, Inc.	\$70.00	1,115.00	CY	\$78,050.00	-\$5,575.00
316 9999	ASPH (AC - 20 - 5TR OR CRS	-2P)	\$3.60	20,327.00	GAL	\$73,177.20	
	11.11%	H. H. Howard & Sons	\$4.00	20,327.00	GAL	\$81,308.00	\$8,130.80
	11.11%	JW Payne Construction, LLC	\$4.00	20,327.00	GAL	\$81,308.00	\$8,130.80
	-12.50%	Longview Bridge and Road, Ltd.	\$3.15	20,327.00	GAL	\$64,030.05	-\$9,147.15
	25.00%	TJ Lambrecht Construction	\$4.50	20,327.00	GAL	\$91,471.50	\$18,294.30
	11.11%	James Construction Group	\$4.00	20,327.00	GAL	\$81,308.00	\$8,130.80
	22.22%	East Texas Bridge, Inc.	\$4.40	20,327.00	GAL	\$89,438.80	\$16,261.60
400 2005			\$60.00	776.00	CY	\$46,560.00	
	66.67%	H. H. Howard & Sons	\$100.00	776.00	CY	\$77,600.00	\$31,040.00
	80.00%	JW Payne Construction, LLC	\$108.00	776.00	CY	\$83,808.00	\$37,248.00
	141.67%	Longview Bridge and Road, Ltd.	\$145.00	776.00	CY	\$112,520.00	\$65,960.00
	51.67%	TJ Lambrecht Construction	\$91.00	776.00	CY	\$70,616.00	\$24,056.00
	66.67%	James Construction Group	\$100.00	776.00	CY	\$77,600.00	\$31,040.00
	108.33%	East Texas Bridge, Inc.	\$125.00	776.00	CY	\$97,000.00	\$50,440.00
402 2001	TRENCH EXCAVATION PROT	ECTION	\$2.00	2,742.00	LF	\$5,484.00	• • • •
	-50.00%	H. H. Howard & Sons	\$1.00	2,742.00	LF	\$2,742.00	-\$2,742.00
	175.00%	JW Payne Construction, LLC	\$5.50	2,742.00	LF	\$15,081.00	\$9,597.00
	0.00%	Longview Bridge and Road, Ltd.	\$2.00	2,742.00	LF	\$5,484.00	\$0.00
	75.00%	TJ Lambrecht Construction	\$3,50	2,742.00	LF	\$9,597.00	\$4,113.00
	-75.00%	James Construction Group	\$0.50	2,742.00	LF	\$1,371.00	-\$4,113.00
	-50.00%	East Texas Bridge, Inc.	\$1.00	2,742.00	LF	\$2,742.00	-\$2,742.00
416 2004	DRILL SHAFT (36 IN)		\$140.00	590.00	LF	\$82,600.00	·-,- ·
	14.29%	H. H. Howard & Sons	\$160.00	590.00	LF	\$94,400.00	\$11,800.00
	14.29%	JW Payne Construction, LLC	\$160.00	590,00	LF	\$94,400.00	\$11,800.00
	14.29%	Longview Bridge and Road, Ltd.	\$160.00	590.00	LF	\$94,400.00	\$11,800.00
	51.43%	TJ Lambrecht Construction	\$212.00	590.00	LF	\$125,080.00	\$42,480.00
	14.29%	James Construction Group	\$160.00	590.00	LF	\$94,400.00	\$11,800.00
	17.86%	East Texas Bridge, Inc.	\$165.00	590.00	LF	\$97,350.00	\$14,750.00
416 2005	DRILL SHAFT (42 IN)		\$200.00	496.00	LF	\$99,200.00	÷
	-5.00%	H. H. Howard & Sons	\$190.00	496.00	LF	\$94,240.00	-\$4,960.00
	5.00%	JW Payne Construction, LLC	\$210.00	496.00	LF	\$104,160.00	\$4,960.00
	7.50%	Longview Bridge and Road, Ltd.	\$215.00	496.00	LF	\$106,640.00	\$7,440.00
	32.50%	TJ Lambrecht Construction	\$265.00	496.00	LF	\$131,440.00	\$32,240.00
	10.00%	James Construction Group	\$220.00	496.00	LF	\$109,120.00	\$9,920.00
	12.50%	East Texas Bridge, Inc.	\$225.00	496.00	LF	\$111.600.00	\$12,400.00
416 2029	DRILL SHAFT (RDWY ILLUM)		\$125.00	16.00	LF	\$2,000.00	ψ12,400.00
	36.00%	H. H. Howard & Sons	\$120.00	16.00	LF	\$2,720.00	\$720.00
	36.00%	JW Payne Construction, LLC	\$170.00	16.00	LF	\$2,720.00	\$720.00
	43.20%	Longview Bridge and Road, Ltd.	\$179.00	16.00	LF	\$2,864.00	\$864.00
	44.00%	TJ Lambrecht Construction	\$179.00	16.00	LF	\$2,884.00 \$2,880.00	\$880.00

.

ltem	Description		Price	Qty	Unit	Ext. Amount	Deviation
	36.00%	James Construction Group	\$170.00	16.00	LF	\$2,720.00	\$720.00
	60.00%	East Texas Bridge, Inc.	\$200.00	16.00	LF	\$3,200.00	\$1,200.00
416 2031	DRILL SHAFT (TRF SIG PO	LE)(30 IN.)	\$125.00	22.00	LF	\$2,750.00	
	36.00%	H. H. Howard & Sons	\$170.00	22.00	LF	\$3,740.00	\$990.00
	36.00%	JW Payne Construction, LLC	\$170.00	22.00	LF	\$3,740.00	\$990.00
	43.20%	Longview Bridge and Road, Ltd.	\$179.00	22.00	LF	\$3,938.00	\$1,188.00
	44.00%	TJ Lambrecht Construction	\$180.00	22.00	LF	\$3,960.00	\$1,210.00
	36.00%	James Construction Group	\$170.00	22.00	LF	\$3,740.00	\$990.00
	60.00%	East Texas Bridge, Inc.	\$200.00	22.00	LF	\$4,400.00	\$1,650.00
416 2032	DRILL SHAFT (TRF SIG PO	LE)(36 IN.)	\$165.50	104.00	LF	\$17,212.00	
	17.82%	H. H. Howard & Sons	\$195.00	104.00	LF	\$20,280.00	\$3,068.00
	17.82%	JW Payne Construction, LLC	\$195.00	104.00	LF	\$20,280.00	\$3,068.00
	23.87%	Longview Bridge and Road, Ltd.	\$205.00	104.00	LF	\$21,320.00	\$4,108.00
	24.47%	TJ Lambrecht Construction	\$206.00	104.00	LF	\$21,424.00	\$4,212.00
	17.82%	James Construction Group	\$195.00	104.00	LF	\$20,280.00	\$3,068.00
	35.95%	East Texas Bridge, Inc.	\$225.00	104.00	LF	\$23,400.00	\$6,188.00
420 2003	CL C CONC (ABUT)		\$675.00	61.00	CY	\$41,175.00	
	-18.52%	H. H. Howard & Sons	\$550.00	61.00	CY	\$33,550.00	-\$7,625.00
	-18.52%	JW Payne Construction, LLC	\$550.00	61.00	CY	\$33,550.00	-\$7,625.00
	-17.04%	Longview Bridge and Road, Ltd.	\$560.00	61.00	CY	\$34,160.00	-\$7,015.00
	25.93%	TJ Lambrecht Construction	\$850.00	61.00	CY	\$51,850.00	\$10,675.00
	11.11%	James Construction Group	\$750.00	61.00	CY	\$45,750.00	\$4,575.00
	-6.67%	East Texas Bridge, Inc.	\$630.00	61.00	CY	\$38,430.00	-\$2,745.00
420 2004	CL C CONC (BENT)	-	\$700.00	150.00	CY	\$105,000.00	
	-16.43%	H. H. Howard & Sons	\$585.00	150.00	CY	\$87,750.00	-\$17,250.00
	-16.43%	JW Payne Construction, LLC	\$585.00	150.00	CY	\$87,750.00	-\$17,250.00
	-20.00%	Longview Bridge and Road, Ltd.	\$560.00	150.00	CY	\$84,000.00	-\$21,000.00
	13.57%	TJ Lambrecht Construction	\$795.00	150.00	CY	\$119,250.00	\$14,250.00
	-4.29%	James Construction Group	\$670.00	150.00	CY	\$100,500.00	-\$4,500.00
	-3.57%	East Texas Bridge, Inc.	\$675.00	150.00	CY	\$101,250.00	-\$3,750.00
420 2033			\$375.00	115.40	CY	\$43,275.00	40,000.00
	-13.33%	, H. H. Howard & Sons	\$325.00	115.40	CY	\$37,505.00	-\$5,770.00
	-13.33%	JW Payne Construction, LLC	\$325.00	115.40	CY	\$37,505.00	-\$5,770.00
	21.33%	Longview Bridge and Road, Ltd.	\$455.00	115.40	CY	\$52,507.00	\$9,232.00
	-15.20%	TJ Lambrecht Construction	\$318.00	115.40	CY	\$36,697.20	-\$6,577.80
	6.67%	James Construction Group	\$400.00	115.40	ĊY	\$46,160.00	\$2,885.00
	17.33%	East Texas Bridge, Inc.	\$440.00	115.40	CY	\$50,776.00	\$7,501.00
422 2001	REINF CONC SLAB		\$15.00	18,860.00	SF	\$282,900.00	ψ1,001.00
	0.00%	H. H. Howard & Sons	\$15.00	18,860.00	SF	\$282,900.00	\$0.00
	-6.67%	JW Payne Construction, LLC	\$14.00	18,860.00	SF	\$264,040.00	-\$18,860.00
	-10.00%	Longview Bridge and Road, Ltd.	\$13.50	18,860.00	SF	\$254,610.00	-\$28,290.00

٠

ltem	Description		Price	Qty	Unit	Ext. Amount	Deviation
	0.00%	TJ Lambrecht Construction	\$15.00	18,860.00	SF	\$282,900.00	\$0.00
	-20.00%	James Construction Group	\$12.00	18,860.00	SF	\$226,320.00	-\$56,580.00
	3.33%	East Texas Bridge, Inc.	\$15.50	18,860.00	SF	\$292,330.00	\$9,430.00
425 2004	PRESTR CONC BEAM (TY IV)		\$112.00	2,571.49	LF	\$288,006.88	
	20.54%	H. H. Howard & Sons	\$135.00	2,571.49	LF	\$347,151.15	\$59,144.27
	20.54%	JW Payne Construction, LLC	\$135.00	2,571.49	LF	\$347,151.15	\$59,144.27
	42.86%	Longview Bridge and Road, Ltd.	\$160.00	2,571.49	LF	\$411,438.40	\$123,431.5
	-15.18%	TJ Lambrecht Construction	\$95.00	2,571.49	LF	\$244,291.55	-\$43,715.33
	25.00%	James Construction Group	\$140.00	2,571.49	LF	\$360,008.60	\$72,001.72
	33.93%	East Texas Bridge, Inc.	\$150.00	2,571.49	LF 👘	\$385,723.50	\$97,716.62
428 2001	CONC SURF TREAT (CLASS I)		\$2.00	1,967.00	SY	\$3,934.00	
	0.00%	H. H. Howard & Sons	\$2.00	1,967.00	SY	\$3,934.00	\$0.00
	-30.00%	JW Payne Construction, LLC	\$1.40	1,967.00	SY	\$2,753.80	-\$1,180.20
	50.00%	Longview Bridge and Road, Ltd.	\$3.00	1,967.00	SY	\$5,901.00	\$1,967.00
	112.50%	TJ Lambrecht Construction	\$4.25	1,967.00	SY	\$8,359.75	\$4,425.7
	-75.00%	James Construction Group	\$0.50	1,967.00	SY	\$983.50	-\$2,950.50
	-50.00%	East Texas Bridge, Inc.	\$1.00	1,967.00	SY	\$1,967.00	-\$1,967.00
432 2021	RIPRAP (STONE PROTECTION	(18 IN)	\$95.00	3,434.00	CY	\$326,230.00	
	-4.21%	H. H. Howard & Sons	\$91.00	3,434.00	CY	\$312,494.00	-\$13,736.00
	-4.21%	JW Payne Construction, LLC	\$91.00	3,434.00	CY	\$312,494.00	-\$13,736.00
	0.00%	Longview Bridge and Road, Ltd.	\$95.00	3,434.00	CY	\$326,230.00	\$0.0
	1.05%	TJ Lambrecht Construction	\$96.00	3,434.00	CY		\$3,434.0
	-26.32%	James Construction Group	\$70.00	3,434.00	CY		-\$85,850.0
	-10.53%	East Texas Bridge, Inc.	\$85.00	3,434.00	CY		-\$34,340.0
432 2039	RIPRAP (MOW STRIP) (4 IN)	0,	\$250.00	66.40	CY		• • • • • • • • • • • • • • • • • • • •
	10.00%	H, H, Howard & Sons	\$275.00	66.40	CY		\$1,660.0
	10.00%	JW Payne Construction, LLC	\$275.00	66.40	CY		\$1,660.00
	60.00%	Longview Bridge and Road, Ltd.	\$400.00	66.40	CY	\$347,151.15 \$347,151.15 \$411,438.40 \$244,291.55 \$360,008.60 \$385,723.50 \$3,934.00 \$2,753.80 \$5,901.00 \$8,359.75 \$983.50 \$1,967.00 \$326,230.00 \$312,494.00	\$9,960.0
128 2001 132 2021 132 2039 132 2072	27.20%	TJ Lambrecht Construction	\$318.00	66.40	CY		\$4,515.20
	68.00%	James Construction Group	\$420.00	66.40	CY		\$11,288.0
	20.00%	East Texas Bridge, Inc.	\$300.00	66.40	CY	-	\$3,320.0
432 2072	RIPRAP (CONC)(CL B)(RR8 & R		\$425.00	12.00	CY		
	-33.65%	H, H. Howard & Sons	\$282.00	12.00	CY		-\$1,716.0
	-33.65%	JW Payne Construction, LLC	\$282.00	12.00	CY	-	-\$1,716.0
	88.24%	Longview Bridge and Road, Ltd.	\$800.00	12.00	CY	•	\$4,500.0
	-12.71%	TJ Lambrecht Construction	\$371.00	12.00	ĊY		-\$648.0
	-5.88%	James Construction Group	\$400.00	12.00	ĊY		-\$300.0
	-5.88%	East Texas Bridge, Inc.	\$400.00	12.00	CY		-\$300,0
432 2085	RIPRAP (CONC)(CL B) (6 IN)		\$250.00	108.80	CY	-	\$000,0
	12.80%	H. H. Howard & Sons	\$282.00	108.80	CY		\$3,481.6
	12.80%	JW Payne Construction, LLC	\$282.00	108.80	CY		\$3,481.60

.

ltem	Description		Price	Qty	Unit	Ext. Amount	Deviation
	70.00%	Longview Bridge and Road, Ltd.	\$425.00	108.80	CY	\$46,240.00	\$19,040.00
	71.60%	TJ Lambrecht Construction	\$429.00	108.80	CY	\$46,675.20	\$19,475.20
	60.00%	James Construction Group	\$400.00	108.80	CY	\$43,520.00	\$16,320.00
	20.00%	East Texas Bridge, Inc.	\$300.00	108.80	CY	\$32,640.00	\$5,440.00
450 2007	RAIL (TY T501)		\$40.00	868.00	LF	\$34,720.00	
	15.00%	H. H. Howard & Sons	\$46.00	868.00	LF	\$39,928.00	\$5,208.00
	15.00%	JW Payne Construction, LLC	\$46.00	868.00	LF	\$39,928.00	\$5,208.00
	30.00%	Longview Bridge and Road, Ltd.	\$52.00	868.00	LF	\$45,136.00	\$10,416.00
	-20.00%	TJ Lambrecht Construction	\$32.00	868.00	LF	\$27,776.00	-\$6,944.00
	12.50%	James Construction Group	\$45.00	868.00	LF	\$39,060.00	\$4,340.00
	75.00%	East Texas Bridge, Inc.	\$70.00	868.00	LF	\$60,760.00	\$26,040.00
454 2004	ARMOR JOINT		\$90.00	44.00	LF	\$3,960.00	
	-46.67%	H. H. Howard & Sons	\$48.00	44.00	LF	\$2,112.00	-\$1,848.00
	-55.56%	JW Payne Construction, LLC	\$40.00	44.00	LF	\$1,760.00	-\$2,200.00
	-66.67%	Longview Bridge and Road, Ltd.	\$30.00	44.00	LF	\$1,320.00	-\$2,640.00
	5.56%	TJ Lambrecht Construction	\$95.00	44.00	LF	\$4,180.00	\$220.00
	-38.89%	James Construction Group	\$55.00	44.00	LF	\$2,420.00	-\$1,540.00
	-27.78%	East Texas Bridge, Inc.	\$65.00	44.00	LF	\$2,860.00	-\$1,100.00
454 2005	ARMOR JOINT (WITH SEAL)	—	\$70.00	128.00	LF	\$8,960.00	• • •
	27.14%	H. H. Howard & Sons	\$89.00	128.00	LF	\$11,392.00	\$2,432.00
	-14.29%	JW Payne Construction, LLC	\$60.00	128.00	LF	\$7,680.00	-\$1,280.00
	-35.71%	Longview Bridge and Road, Ltd.	\$45.00	128.00	LF	\$5,760.00	-\$3,200.00
	51.43%	TJ Lambrecht Construction	\$106.00	128.00	LF	\$13,568.00	\$4,608.00
	14.29%	James Construction Group	\$80.00	128.00	LF	\$10,240.00	\$1,280.00
	28.57%	East Texas Bridge, Inc.	\$90.00	128.00	LF	\$11,520.00	\$2,560.00
462 2004	CONC BOX CULV (4FT X 3FT)	-	\$150.00	98.00	LF	\$14,700.00	
	16.67%	H. H. Howard & Sons	\$175.00	98.00	LF	\$17,150.00	\$2,450.00
	66.67%	JW Payne Construction, LLC	\$250.00	98.00	LF	\$24,500.00	\$9,800.00
	46.67%	Longview Bridge and Road, Ltd.	\$220.00	98.00	LF	\$21,560.00	\$6,860.00
	16.67%	TJ Lambrecht Construction	\$175.00	98.00	LF	\$17,150.00	\$2,450.00
	16.67%	James Construction Group	\$175.00	98.00	LF	\$17,150.00	\$2,450.00
	16.67%	East Texas Bridge, Inc.	\$175.00	98.00	LF	\$17,150.00	\$2,450.00
462 2012	CONC BOX CULV (6FT X 5FT)		\$200.00	117.00	LF	\$23,400.00	+=,
	37,50%	H. H. Howard & Sons	\$275.00	117.00	LF	\$32,175.00	\$8,775.00
	75.00%	JW Payne Construction, LLC	\$350.00	117.00	LF	\$40,950.00	\$17,550.00
	42.50%	Longview Bridge and Road, Ltd.	\$285.00	117.00	LF	\$33,345.00	\$9,945.00
	57.50%	TJ Lambrecht Construction	\$315.00	117.00	LF	\$36,855.00	\$13,455.00
	55.00%	James Construction Group	\$310.00	117.00	LF	\$36,270.00	\$12,870.00
	82.50%	East Texas Bridge, Inc.	\$365.00	117.00	LF	\$42,705.00	\$12,870.00
462 2025	CONC BOX CULV (9FT X 6FT)	cast rokas phago, mo.	\$400.00	252.00	LF	\$100,800.00	φ13,500.00
	12.50%	H. H. Howard & Sons	\$450.00	252.00	LF	\$113,400.00	\$12,600.00

.

٠

ltem	Description		Price	Qty	Unit	Ext. Amount	Deviation
	37.50%	JW Payne Construction, LLC	\$550.00	252.00	LF	\$138,600.00	\$37,800.00
	18.75%	Lorigview Bridge and Road, Ltd.	\$475.00	252.00	LF	\$119,700.00	\$18,900.00
	14.25%	TJ Lambrecht Construction	\$457.00	252.00	LF	\$115,164.00	\$14,364.00
	20.00%	James Construction Group	\$480.00	252.00	LF	\$120,960.00	\$20,160.00
	0.00%	East Texas Bridge, Inc.	\$400.00	252.00	LF	\$100,800.00	\$0.00
464 2003	RC PIPE (CL III) (18 IN)		\$40.00	1,301.00	LF	\$52,040.00	
	-37.50%	H. H. Howard & Sons	\$25.00	1,301.00	LF	\$32,525.00	-\$19,515.00
	-35.00%	JW Payne Construction, LLC	\$26.00	1,301.00	LF	\$33,826.00	-\$18,214.00
	-32.50%	Longview Bridge and Road, Ltd.	\$27.00	1,301.00	LF	\$35,127.00	-\$16,913.00
	25.00%	TJ Lambrecht Construction	\$50.00	1,301.00	LF	\$65,050.00	\$13,010.00
	0.00%	James Construction Group	\$40.00	1,301.00	LF	\$52,040.00	\$0.00
	-30.00%	East Texas Bridge, Inc.	\$28.00	1,301.00	LF	\$36,428.00	-\$15,612.00
464 2005	RC PIPE (CL III) (24 IN)		\$50.00	1,355.00	LF	\$67,750.00	
	-40.00%	H. H. Howard & Sons	\$30.00	1,355.00	LF	\$40,650.00	-\$27,100.00
	-36.00%	JW Payne Construction, LLC	\$32.00	1,355.00	LF	\$43,360.00	-\$24,390.00
	-28.00%	Longview Bridge and Road, Ltd.	\$36.00	1,355.00	LF	\$48,780.00	-\$18,970.00
	0.00%	TJ Lambrecht Construction	\$50.00	1,355.00	LF	\$67,750.00	\$0.00
	-4.00%	James Construction Group	\$48.00	1,355.00	LF	\$65,040.00	-\$2,710.00
	-24.00%	East Texas Bridge, Inc.	\$38.00	1,355.00	LF	\$51,490.00	-\$16,260.00
464 2007	RC PIPE (CL III) (30 IN)	- 1	\$60.00	41.00	LF	\$2,460.00	• • •
	-33.33%	H. H. Howard & Sons	\$40.00	41.00	LF	\$1,640.00	-\$820.00
	-28.33%	JW Payne Construction, LLC	\$43.00	41.00	LF	\$1,763.00	-\$697.00
	-20.00%	Longview Bridge and Road, Ltd.	\$48.00	41.00	LF	\$1,968.00	-\$492.00
	46.67%	TJ Lambrecht Construction	\$88.00	41.00	LF	\$3,608.00	\$1,148.00
	8.33%	James Construction Group	\$65.00	41.00	LF	\$2,665.00	\$205.00
	-20.00%	East Texas Bridge, Inc.	\$48.00	41.00	LF	\$1,968.00	-\$492.00
464 2009	RC PIPE (CL III) (36 IN)	•	\$85.00	679.00	LF	\$57,715.00	* • • • • • •
	-35.29%	H. H. Howard & Sons	\$55.00	679.00	LF	\$37,345.00	-\$20,370.00
	-30.59%	JW Payne Construction, LLC	\$59.00	679.00	LF	\$40,061.00	-\$17,654.00
	-23.53%	Longview Bridge and Road, Ltd.	\$65.00	679.00	LF	\$44,135.00	-\$13,580.00
	-15.29%	TJ Lambrecht Construction	\$72.00	679.00	LF	\$48,888.00	-\$8,827.00
	-11.76%	James Construction Group	\$75.00	679.00	LF	\$50,925.00	-\$6,790.00
	-5.88%	East Texas Bridge, Inc.	\$80.00	679.00	LF	\$54,320.00	-\$3,395.00
464 2010	RC PIPE (CL III) (42 IN)		\$105.00	313.00	LF	\$32,865.00	¥0,000.00
	-33.33%	H. H. Howard & Sons	\$70.00	313.00	LF	\$21,910.00	-\$10,955.00
	-28.57%	JW Payne Construction, LLC	\$75.00	313.00	LF	\$23,475.00	-\$9,390.00
	-24.76%	Longview Bridge and Road, Ltd.	\$79.00	313.00	LF	\$24,727.00	-\$8,138.00
	-10.48%	TJ Lambrecht Construction	\$94.00	313.00	LF	\$29,422.00	-\$3,443.00
	-25.71%	James Construction Group	\$78.00	313.00	LF	\$24,414.00	-\$8,451.00
	-14.29%	East Texas Bridge, Inc.	\$90.00	313.00	LF	\$28,170.00	-\$8,451.00
464 2011	RC PIPE (CL III) (48 IN)	cast ronds bridge, inc.	\$125.00	114.00	LF	\$14,250.00	-9-1,080.00

.

Item	Description		Price	Qty	Unit	Ext. Amount	Deviation
	-32.00%	H. H. Howard & Sons	\$85.00	114.00	LF	\$9,690.00	-\$4,560.00
	-27.20%	JW Payne Construction, LLC	\$91.00	114.00	LF	\$10,374.00	-\$3,876.00
	-21.60%	Longview Bridge and Road, Ltd.	\$98.00	114.00	LF	\$11,172.00	-\$3,078.00
	-8.00%	TJ Lambrecht Construction	\$115.00	114.00	LF	\$13,110.00	-\$1,140.00
	-8.00%	James Construction Group	\$115.00	114.00	LF	\$13,110.00	-\$1,140.00
	-12.00%	East Texas Bridge, Inc.	\$110.00	114.00	LF	\$12,540.00	-\$1,710.00
464 2012	RC PIPE (CL III) (54 IN)		\$135.00	128.00	LF	\$17,280.00	
	-11.11%	H. H. Howard & Sons	\$120.00	128.00	LF	\$15,360.00	-\$1,920.00
	-3.70%	JW Payne Construction, LLC	\$130.00	128.00	LF	\$16,640.00	-\$640.00
	-9.63%	Longview Bridge and Road, Ltd.	\$122.00	128.00	LF	\$15,616.00	-\$1,664.00
	5.93%	TJ Lambrecht Construction	\$143.00	128.00	LF	\$18,304.00	\$1,024.00
	3.70%	James Construction Group	\$140.00	128.00	LF	\$17,920.00	\$640.00
	3.70%	East Texas Bridge, Inc.	\$140.00	128.00	ĹF	\$17,920.00	\$640.00
465 2006	MANH (COMPL) (JUNCT BO	X) (TY M)	\$3,400.00	.3.00	EA	\$10,200.00	
	-19.12%	H. H. Howard & Sons	\$2,750.00	3.00	EA	\$8,250.00	-\$1,950.00
	-10.29%	JW Payne Construction, LLC	\$3,050.00	3.00	EA	\$9,150.00	-\$1,050.00
	-5.88%	Longview Bridge and Road, Ltd.	\$3,200.00	3.00	EA	\$9,600.00	-\$600.00
	10.29%	TJ Lambrecht Construction	\$3,750.00	3.00	EA	\$11,250.00	\$1,050.00
	-32.35%	James Construction Group	\$2,300.00	3.00	EA	\$6,900.00	-\$3,300.00
	2.94%	East Texas Bridge, Inc.	\$3,500.00	3.00	EA	\$10,500.00	\$300.00
465 2020	INLET (COMPL) (CURB) (TY	11)	\$4,200.00	2.00	EA	\$8,400.00	
	-16.67%	H. H. Howard & Sons	\$3,500.00	2.00	EA	\$7,000.00	-\$1,400.00
	-8.33%	JW Payne Construction, LLC	\$3,850.00	2.00	EA	\$7,700.00	-\$700.00
	-16.67%	Longview Bridge and Road, Ltd.	\$3,500.00	2.00	EA	\$7,000.00	-\$1,400.00
	2.38%	TJ Lambrecht Construction	\$4,300.00	2.00	EA	\$8,600.00	\$200.00
	9.52%	James Construction Group	\$4,600.00	2.00	EA	\$9,200.00	\$800.00
	19.05%	East Texas Bridge, Inc.	\$5,000.00	2.00	EA	\$10,000.00	\$1,600.00
465 9999	INLET (COMPL) (CURB) (TY	III)	\$5,500.00	10.00	EA	\$55,000.00	
	-36.36%	H. H. Howard & Sons	\$3,500.00	10.00	EA	\$35,000.00	-\$20,000.00
	-27.27%	JW Payne Construction, LLC	\$4,000.00	10.00	EA	\$40,000.00	-\$15,000.00
	-21.82%	Longview Bridge and Road, Ltd.	\$4,300.00	10.00	EA	\$43,000.00	-\$12,000.00
	5.45%	TJ Lambrecht Construction	\$5,800.00	10.00	EA	\$58,000.00	\$3,000.00
	-14.55%	James Construction Group	\$4,700.00	10.00	EA	\$47,000.00	-\$8,000.00
	-9.09%	East Texas Bridge, Inc.	\$5,000.00	10.00	EA	\$50,000.00	-\$5,000.00
466 2024	WINGWALL (FW-0) (HW=8 F		\$7,500.00	2.00	EA	\$15,000.00	•-•
	13.33%	H. H. Howard & Sons	\$8,500.00	2.00	EA	\$17,000.00	\$2,000.00
	13.33%	JW Payne Construction, LLC	\$8,500.00	2.00	EA	\$17,000.00	\$2,000.00
	30.67%	Longview Bridge and Road, Ltd.	\$9,800,00	2.00	EA	\$19,600.00	\$4,600.00
	66.67%	TJ Lambrecht Construction	\$12,500.00	2.00	EA	\$25,000.00	\$10,000.00
	193.33%	James Construction Group	\$22,000.00	2.00	EA	\$44,000.00	\$29,000.00
	20.00%	East Texas Bridge, Inc.	\$9,000.00	2.00	EA	\$18,000.00	\$3,000.00

٠

Item	Description		Price	Qty	Unit	Ext. Amount	Deviation
466 2036	WINGWALL (FW-S) (HW=6 FT)		\$7,500.00	2.00	EA	\$15,000.00	
	1.33%	H. H. Howard & Sons	\$7,600.00	2.00	EA	\$15,200.00	\$200.00
	1.33%	JW Payne Construction, LLC	\$7,600.00	2.00	EA	\$15,200.00	\$200.00
	73.33%	Longview Bridge and Road, Ltd.	\$13,000.00	2.00	EA	\$26,000.00	\$11,000.00
	36.00%	TJ Lambrecht Construction	\$10,200.00	2.00	EA	\$20,400.00	\$5,400.00
	66.67%	James Construction Group	\$12,500.00	2.00	EA	\$25,000.00	\$10,000.00
	-6.67%	East Texas Bridge, Inc.	\$7,000.00	2.00	EA	\$14,000.00	-\$1,000.00
466 2049	WINGWALL (PW) (HW=5 FT)		\$6,200.00	1.00	EA	\$6,200.00	
	8.06%	H. H. Howard & Sons	\$6,700.00	1.00	EA	\$6,700.00	\$500.00
	8.06%	JW Payne Construction, LLC	\$6,700.00	1.00	EA	\$6,700.00	\$500.00
	-61.29%	Longview Bridge and Road, Ltd.	\$2,400.00	1.00	EA	\$2,400.00	-\$3,800.00
	-45.16%	TJ Lambrecht Construction	\$3,400.00	, 1.00	EA	\$3,400.00	-\$2,800.00
	-22.58%	James Construction Group	\$4,800.00	1.00	EA	\$4,800.00	-\$1,400.00
	12.90%	East Texas Bridge, Inc.	\$7,000.00	1.00	EA	\$7,000.00	\$800.00
466 2071	HEADWALL (CH-FW-0) (DIA=48 I		\$4,000.00	1.00	EA	\$4,000.00	
	-5.00%	H. H. Howard & Sons	\$3,800.00	1.00	EA	\$3,800.00	-\$200.00
	-5.00%	JW Payne Construction, LLC	\$3,800.00	1.00	EA	\$3,800.00	-\$200.00
	-10.00%	Longview Bridge and Road, Ltd.	\$3,600.00	1.00	EA	\$3,600.00	-\$400.00
	32.50%	TJ Lambrecht Construction	\$5,300.00	1.00	EA	\$5,300.00	\$1,300.00
	62.50%	James Construction Group	\$6,500.00	1.00	EA	\$6,500.00	\$2,500.00
	75.00%	East Texas Bridge, Inc.	\$7,000.00	1.00	EA	\$7,000.00	\$3,000.00
466 2086	HEADWALL (CH-FW-15) (DIA=48		\$5,000.00	1.00	EA	\$5,000.00	
	-52.00%	H, H. Howard & Sons	\$2,400.00	1.00	EA	\$2,400.00	-\$2,600.00
	-52.00%	JW Payne Construction, LLC	\$2,400.00	1.00	EA	\$2,400.00	-\$2,600.00
	-24.00%	Longview Bridge and Road, Ltd.	\$3,800.00	1.00	EA	\$3,800,00	-\$1,200.00
	14.00%	TJ Lambrecht Construction	\$5,700.00	1.00	EA	\$5,700.00	\$700.00
	0.00%	James Construction Group	\$5,000.00	1.00	EA	\$5,000.00	\$0.00
	40.00%	East Texas Bridge, Inc.	\$7,000.00	1.00	EA	\$7,000.00	\$2,000.00
467 2222	SET (TY II) (18 IN) (RCP) (4:1) (C		\$600.00	6.00	EA	\$3,600.00	. ,
	-25.00%	H. H. Howard & Sons	\$450.00	6.00	EA	\$2,700.00	-\$900.00
	-19.17%	JW Payne Construction, LLC	\$485.00	6.00	EA	\$2,910.00	-\$690.00
	-33.33%	Longview Bridge and Road, Ltd.	\$400.00	6.00	EA	\$2,400.00	-\$1,200.00
	-19.17%	TJ Lambrecht Construction	\$485.00	6.00	EA	\$2,910.00	-\$690.00
	-30.00%	James Construction Group	\$420.00	6.00	EA	\$2,520.00	-\$1,080.00
	-35.00%	East Texas Bridge, Inc.	\$390.00	6.00	EA	\$2,340.00	-\$1,260.00
467 2224	SET (TY II) (24 IN) (RCP) (4:1) (C	÷ .	\$925.00	3.00	EA	\$2,775.00	¥1,200.00
.,,	-45.95%	, H. H. Howard & Sons	\$500.00	3.00	EA	\$1,500.00	-\$1,275.00
	-41.84%	JW Payne Construction, LLC	\$538.00	3.00	EA	\$1,614.00	-\$1,161.00
	-54.05%	Longview Bridge and Road, Ltd.	\$425.00	3.00	EA	\$1,275.00	-\$1,500.00
	-31.57%	TJ Lambrecht Construction	\$633.00	3.00	EA	\$1,899.00	-\$876.00
	-48.11%	James Construction Group	\$480.00	3.00	EA	\$1,440.00	-\$1,335.00

•

Item	Description		Price	Qty	Unit	Ext. Amount	Deviation
	-55.14%	East Texas Bridge, Inc.	\$415.00	3.00	EA	\$1,245.00	-\$1,530.00
467 2227	SET (TY II) (36 IN) (RCP) (4:1) (C)		\$2,500.00	2.00	EA	\$5,000.00	
	-40.00%	H. H. Howard & Sons	\$1,500.00	2.00	EA	\$3,000.00	-\$2,000.00
	-35.40%	JW Payne Construction, LLC	\$1,615.00	2.00	EA	\$3,230.00	-\$1,770.00
	-40.00%	Longview Bridge and Road, Ltd.	\$1,500.00	2.00	EA	\$3,000.00	-\$2,000.00
	-52.00%	TJ Lambrecht Construction	\$1,200.00	2,00	EA	\$2,400.00	-\$2,600.00
	-40.00%	James Construction Group	\$1,500.00	2.00	EA	\$3,000.00	-\$2,000.00
	-40.00%	East Texas Bridge, Inc.	\$1,500.00	2.00	EA	\$3,000.00	-\$2,000.00
467 2230	SET (TY II) (54 IN) (RCP) (4:1) (C)		\$9,500.00	2.00	EA	\$19,000.00	
	-47.37%	H. H. Howard & Sons	\$5,000.00	2.00	EA	\$10,000.00	-\$9,000.00
	-43.16%	JW Payne Construction, LLC	\$5,400.00	2.00	EA	\$10,800.00	-\$8,200.00
	-51.58%	Longview Bridge and Road, Ltd.	\$4,600.00	2.00	EA	\$9,200.00	-\$9,800.00
	-54.74%	TJ Lambrecht Construction	\$4,300.00	2.00	EA	\$8,600.00	-\$10,400.00
	-36.84%	James Construction Group	\$6,000.00	2.00	EA	\$12,000.00	-\$7,000.00
	-47.37%	East Texas Bridge, Inc.	\$5,000.00	2.00	EA	\$10,000.00	-\$9,000.00
467 2234			\$900.00	2.00	EA	\$1,800.00	
	-44.44%	H. H. Howard & Sons	\$500.00	2.00	EA	\$1,000.00	-\$800.00
	-40.00%	JW Payne Construction, LLC	\$540.00	2.00	EA	\$1,080.00	-\$720.00
	~50.00%	Longview Bridge and Road, Ltd.	\$450.00	2.00	EA	\$900.00	-\$900.00
	-33.33%	TJ Lambrecht Construction	\$600,00	2.00	EA	\$1,200.00	-\$600.00
	-44.44%	James Construction Group	\$500.00	2.00	EA	\$1,000.00	-\$800.00
	-50.56%	East Texas Bridge, Inc.	\$445.00	2.00	EA	\$890.00	-\$910.00
467 2236	SET (TY II) (24 IN) (RCP) (6:1) (C)	-	\$1,000.00	3.00	EA	\$3,000.00	
	-25.00%	H. H. Howard & Sons	\$750.00	3.00	EA	\$2,250.00	-\$750.00
	-20.00%	JW Payne Construction, LLC	\$800.00	3.00	EA	\$2,400.00	-\$600.00
	-28.50%	Longview Bridge and Road, Ltd.	\$715.00	3.00	EA	\$2,145.00	-\$855.00
	-24.00%	TJ Lambrecht Construction	\$760.00	3.00	ĒΑ	\$2,280.00	-\$720.00
	-20.00%	James Construction Group	\$800.00	3.00	EA	\$2,400.00	-\$600,00
	-30.00%	East Texas Bridge, Inc.	\$700.00	3.00	EA	\$2,100.00	-\$900.00
467 2286	SET (TY II) (18 IN) (RCP) (6:1) (P)		\$650.00	35.00	EA	\$22,750.00	
	-23.08%	H. H. Howard & Sons	\$500.00	35.00	EA	\$17,500.00	-\$5,250.00
	-16.92%	JW Payne Construction, LLC	\$540.00	35.00	EA	\$18,900.00	-\$3,850,00
	-30.77%	Longview Bridge and Road, Ltd.	\$450.00	35.00	EA	\$15,750.00	-\$7,000.00
	-7.69%	TJ Lambrecht Construction	\$600.00	35.00	EA	\$21,000.00	-\$1,750.00
	-23.08%	James Construction Group	\$500.00	35.00	EA	\$17,500.00	-\$5,250.00
	-31.54%	East Texas Bridge, Inc.	\$445.00	35.00	EA	\$15,575.00	-\$7,175.00
467 2288	SET (TY II) (24 IN) (RCP) (6:1) (P)	0,	\$950.00	15.00	EA	\$14,250.00	*******
	-21.05%	H. H. Howard & Sons	\$750.00	15.00	EA	\$11,250.00	-\$3,000.00
	-15.79%	JW Payne Construction, LLC	\$800.00	15.00	EA	\$12,000.00	-\$2,250.00
	-24.74%	Longview Bridge and Road, Ltd.	\$715.00	15.00	EA	\$10,725.00	-\$3,525.00
	-23.16%	TJ Lambrecht Construction	\$730.00	15.00	EA	\$10,950.00	-\$3,300.00

.

•

ltem	Description		Price	Qty	Unit	Ext. Amount	Deviation
	-21.05%	James Construction Group	\$750.00	15.00	EA	\$11,250.00	-\$3,000.00
	-26.32%	East Texas Bridge, Inc.	\$700.00	15.00	EA	\$10,500.00	-\$3,750.00
467 2438	SET (TY II) (42 IN) (RCP) (3:1) (P)		\$2,500.00	1.00	EA	\$2,500.00	
	0.00%	H. H. Howard & Sons	\$2,500.00	1.00	EA	\$2,500.00	\$0.00
	8.00%	JW Payne Construction, LLC	\$2,700.00	1.00	EA	\$2,700.00	\$200.00
	0.00%	Longview Bridge and Road, Ltd.	\$2,500.00	1.00	EA	\$2,500.00	\$0.00
	0.00%	TJ Lambrecht Construction	\$2,500.00	1.00	EA	\$2,500.00	\$0.00
	92.00%	James Construction Group	\$4,800.00	1.00	EA	\$4,800.00	\$2,300.00
	20.00%	East Texas Bridge, Inc.	\$3,000.00	1.00		\$3,000.00	\$500.00
496 2001	REMOV STR (BOX CULVERT)		\$4,500.00	3.00	EA	\$13,500.00	
	-44.44%	H. H. Howard & Sons	\$2,500.00	3.00	EA	\$7,500.00	-\$6,000.00
	-40.00%	JW Payne Construction, LLC	\$2,700.00	3.00	EA	\$8,100.00	-\$5,400.00
	-33.33%	Longview Bridge and Road, Ltd.	\$3,000.00	3.00	EA	\$9,000.00	-\$4,500.00
	-42.22%	TJ Lambrecht Construction	\$2,600.00	3.00	EA	\$7,800.00	-\$5,700.00
	-81.11%	James Construction Group	\$850.00	3.00	EA	\$2,550.00	-\$10,950.00
	-37.78%	East Texas Bridge, Inc.	\$2,800.00	3.00	EA	\$8,400.00	-\$5,100.00
496 2004	REMOV STR (SET)	-	\$250.00	6.00) EA	\$1,500.00	* · · · ·
	-60.00%	H. H. Howard & Sons	\$100.00	6.00	EA	\$600.00	-\$900.00
	-56.00%	JW Payne Construction, LLC	\$110.00	6.00	EA	\$660.00	-\$840.00
	-40.00%	Longview Bridge and Road, Ltd.	\$150.00	6.00	EA	\$900.00	-\$600,00
	-32.00%	TJ Lambrecht Construction	\$170.00	6.00	EA	\$1,020.00	-\$480.00
	10.00%	James Construction Group	\$275.00	6.00	EA	\$1,650.00	\$150.00
	300.00%	East Texas Bridge, Inc.	\$1,000.00	6.00		\$6,000.00	\$4,500.00
496 2007	REMOV STR (PIPE)	-	\$400.00	25.00		\$10,000.00	•••
	-50.00%	H. H. Howard & Sons	\$200.00	25.00		\$5,000.00	-\$5,000.00
	-46.25%	JW Payne Construction, LLC	\$215.00	25.00		\$5,375.00	-\$4,625.00
	-50.00%	Longview Bridge and Road, Ltd.	\$200.00	25.00		\$5,000.00	-\$5,000.00
	-43.75%	TJ Lambrecht Construction	\$225.00	25.00		\$5,625.00	-\$4,375.00
	-40.00%	James Construction Group	\$240.00	25.00		\$6,000.00	-\$4,000.00
	-43.75%	East Texas Bridge, Inc.	\$225.00	25.00		\$5.625.00	-\$4,375.00
500 2001	MOBILIZATION		\$755,000.00	1.00		\$755,000.00	÷ 1,07 0.00
	-47.02%	H. H. Howard & Sons	\$400,000.00	1.00		\$400,000.00	-\$355,000.00
	23.05%	JW Payne Construction, LLC	\$929,057.46	1.00		\$929,057.46	\$174,057.46
	-27.15%	Longview Bridge and Road, Ltd.	\$550,000,00	1.00		\$550,000.00	-\$205,000.00
	25.95%	TJ Lambrecht Construction	\$950,937.65	1.00		\$950,937.65	\$195,937.65
	38.74%	James Construction Group	\$1,047,500.00	1.00		\$1,047,500.00	\$292,500.00
	45.70%	East Texas Bridge, Inc.	\$1,100,000.00	1.00		\$1,100,000.00	\$345,000.00
502 2001	BARRICADES, SIGNS AND TRAF		\$2,750.00	18.00		\$49,500.00	φ0-10,000.00
	-1.82%	H. H. Howard & Sons	\$2,700.00	18.00		\$48,600.00	-\$900.00
	-45.45%	JW Payne Construction, LLC	\$1,500.00	18.00		\$27,000.00	-\$22,500.00
	-67,27%	Longview Bridge and Road, Ltd.	\$900.00	18.00		\$16,200.00	-\$33,300.00

.

ltem	Description		Price	Qty	Unit	Ext. Amount	Deviation
	1.82%	TJ Lambrecht Construction	\$2,800.00	18.00	MO	\$50,400.00	\$900.00
	100.00%	James Construction Group	\$5,500.00	18.00	MO	\$99,000.00	\$49,500.00
	27.27%	East Texas Bridge, Inc.	\$3,500.00	18.00	MO	\$63,000.00	\$13,500.00
506 2001	ROCK FILTER DAMS (NSTALL)(TY 1)	\$24.00	2,530.00	LF	\$60,720.00	
	-29.17%	H. H. Howard & Sons	\$17.00	2,530.00	LF	\$43,010.00	-\$17,710.00
	-30.50%	JW Payne Construction, LLC	\$16.68	2,530.00	LF	\$42,200.40	-\$18,519.60
	-27.08%	Longview Bridge and Road, Ltd.	\$17.50	2,530.00	LF	\$44,275.00	-\$16,445.00
	-25.00%	TJ Lambrecht Construction	\$18.00	2,530.00	LF	\$45,540.00	-\$15,180.00
	-25.00%	James Construction Group	\$18.00	2,530.00	LF	\$45,540.00	-\$15,180.00
	-25.00%	East Texas Bridge, Inc.	\$18.00	2,530.00	LF	\$45,540.00	-\$15,180.00
506 2009	ROCK FILTER DAMS (REMOVE)	\$6.00	2,530.00	LF	\$15,180.00	
	-10.17%	H. H. Howard & Sons	\$5.39	2,530.00	LF	\$13,636.70	-\$1,543.30
	-10.17%	JW Payne Construction, LLC	\$5.39	2,530.00	LF	\$13,636.70	-\$1,543.30
	-4.17%	Longview Bridge and Road, Ltd.	\$5.75	2,530.00	LF	\$14,547.50	-\$632.50
	0.00%	TJ Lambrecht Construction	\$6.00	2,530.00	LF	\$15,180.00	\$0.00
	0.00%	James Construction Group	\$6.00	2,530,00	LF	\$15,180.00	\$0.00
	-8.33%	East Texas Bridge, Inc.	\$5.50	2,530.00	LF	\$13,915.00	-\$1,265.00
506 2016	CONSTRUCTION EXITS		\$12.50	156.00	SY	\$1,950.00	
	26.80%	H. H. Howard & Sons	\$15.85	156.00	SY	\$2,472.60	\$522.60
	26.80%	JW Payne Construction, LLC	\$15.85	156.00	SY	\$2,472.60	\$522.60
	34.00%	Longview Bridge and Road, Ltd.	\$16.75	156.00	SY	\$2,613.00	\$663.00
	36.00%	TJ Lambrecht Construction	\$17.00	156.00	SY	\$2,652.00	\$702.00
	36.00%	James Construction Group	\$17.00	156.00	SY	\$2,652.00	\$702.00
	36.00%	East Texas Bridge, Inc.	\$17.00	156.00	SY	\$2,652.00	\$702.00
506 2019	CONSTRUCTION EXITS		\$5.50	156.00	SY	\$858.00	•
	-21.82%	H. H. Howard & Sons	\$4.30	156.00	SY	\$670.80	-\$187.20
	-21.82%	JW Payne Construction, LLC	\$4.30	156.00	SY	\$670.80	-\$187.20
	-18.18%	Longview Bridge and Road, Ltd.	\$4.50	156.00	SY	\$702.00	-\$156.00
	-18.18%	TJ Lambrecht Construction	\$4.50	156.00	SY	\$702.00	-\$156.00
	-9.09%	James Construction Group	\$5.00	156.00	SY	\$780.00	-\$78.00
	0.00%	East Texas Bridge, Inc.	\$5.50	156.00	SY	\$858.00	\$0.00
506 2034	TEMPORARY SEDIMEN		\$2.50	6,756.00	LF	\$16,890.00	
	-41,20%	H. H. Howard & Sons	\$1.47	6,756.00	LF	\$9,931.32	-\$6,958.68
	-41.20%	JW Payne Construction, LLC	\$1.47	6,756.00	LF	\$9,931.32	-\$6,958.68
	-38.00%	Longview Bridge and Road, Ltd.	\$1.55	6,756.00	LF	\$10,471.80	-\$6,418.20
	-40.00%	TJ Lambrecht Construction	\$1.50	6,756.00	LF	\$10,134.00	-\$6,756.00
	0.00%	James Construction Group	\$2.50	6,756.00	LF	\$16,890.00	\$0.00
	-20.00%	East Texas Bridge, Inc.	\$2.00	6,756.00	LF	\$13,512.00	-\$3,378.00
506 2040		TROL FENCE (REMOVE)	\$0.60	6,756,00	LF	\$4,053.60	- 40,070.00
	-28.33%	H. H. Howard & Sons	\$0.43	6,756.00	LF	\$2,905.08	-\$1,148.52
	-28.33%	JW Payne Construction, LLC	\$0.43	6,756.00	LF	\$2,905.08	-\$1,148.52

٠

ltem	Description		Price	Qty	Unit	Ext. Amount	Deviation
	-25.00%	Longview Bridge and Road, Ltd.	\$0.45	6,756.00	LF	\$3,040.20	-\$1,013.40
	-16.67%	TJ Lambrecht Construction	\$0.50	6,756.00	LF	\$3,378.00	-\$675.60
	-16.67%	James Construction Group	\$0.50	6,756.00	LF	\$3,378.00	-\$675.60
	-16.67%	East Texas Bridge, Inc.	\$0.50	6,756.00	LF	\$3,378.00	-\$675.60
506 9997	EARTHWORK (ERSN &	& SEDM CONT)	\$20.00	70.00	HR	\$1,400.00	
	900.00%	H. H. Howard & Sons	\$200.00	70.00	HR	\$14,000.00	\$12,600.00
	275.00%	JW Payne Construction, LLC	\$75.00	70.00	HR	\$5,250.00	\$3,850.00
	275.00%	Longview Bridge and Road, Ltd.	\$75.00	70.00	HR	\$5,250.00	\$3,850.00
	270.00%	TJ Lambrecht Construction	\$74.00	70.00	HR	\$5,180.00	\$3,780.00
	650.00%	James Construction Group	\$150.00	70.00	HR	\$10,500.00	\$9,100.00
	275.00%	East Texas Bridge, Inc.	\$75.00	. 70.00	HR	\$5,250.00	\$3,850.00
506 9998	TEMP CURB INLET SE		\$0.60	720.00	LF	\$432.00	
	643.33%	H. H. Howard & Sons	\$4.46	720.00	LF	\$3,211.20	\$2,779.20
	643.33%	JW Payne Construction, LLC	\$4.46	720.00	LF	\$3,211.20	\$2,779.20
	150.00%	Longview Bridge and Road, Ltd.	\$1.50	720.00	LF	\$1,080.00	\$648.00
	691.67%	TJ Lambrecht Construction	\$4.75	720.00	LF	\$3,420.00	\$2,988.00
	733.33%	James Construction Group	\$5.00	720.00	LF	\$3,600.00	\$3,168.00
	733.33%	East Texas Bridge, Inc.	\$5.00	720.00	LF	\$3,600.00	\$3,168.00
506 9999	TEMP CURB INLET SE	DIMENT TRAP(REMOVE)	\$0.60	720.00	LF	\$432.00	
	306.67%	H. H. Howard & Sons	\$2.44	720.00	LF	\$1,756.80	\$1,324.80
	306.67%	JW Payne Construction, LLC	\$2.44	720.00	LF	\$1,756.80	\$1,324.80
	150.00%	Longview Bridge and Road, Ltd.	\$1.50	720.00	LF	\$1,080.00	\$648.00
	333.33%	TJ Lambrecht Construction	\$2.60	720.00	LF	\$1,872.00	\$1,440.00
	366.67%	James Construction Group	\$2.80	720.00	LF	\$2,016.00	\$1,584.00
	341.67%	East Texas Bridge, Inc.	\$2.65	720.00	LF	\$1,908.00	\$1,476.00
508 2002		OURS	\$50.00	850.00	SY	\$42,500.00	
	-40.00%	H. H. Howard & Sons	\$30.00	850.00	SY	\$25,500.00	-\$17,000.00
	-40.00%	JW Payne Construction, LLC	\$30.00	850.00	SY	\$25,500.00	-\$17,000.00
	-34.00%	Longview Bridge and Road, Ltd.	\$33.00	850.00	SY	\$28,050.00	-\$14,450.00
	-56.00%	TJ Lambrecht Construction	\$22.00	850.00	SY	\$18,700.00	-\$23,800.00
	-4.00%	James Construction Group	\$48.00	850.00	SY	\$40,800.00	-\$1,700.00
	-32.00%	East Texas Bridge, Inc.	\$34.00	850.00	SY	\$28,900.00	-\$13,600.00
508 9999	CONSTRUCTING DET	OURS (WORK ROAD)	\$50.00	1,807.00	SY	\$90,350.00	
	-33.00%	H. H. Howard & Sons	\$33.50	1,807.00	SY	\$60,534.50	-\$29,815.50
	50.00%	JW Payne Construction, LLC	\$75.00	1,807.00	SY	\$135,525.00	\$45,175.00
	-20.00%	Longview Bridge and Road, Ltd.	\$40.00	1,807.00	SY	\$72,280.00	-\$18,070.00
	-8.00%	TJ Lambrecht Construction	\$46.00	1,807.00	SY	\$83,122.00	-\$7,228.00
	-30.00%	James Construction Group	\$35.00	1,807.00	SY	\$63,245.00	-\$27,105.00
	0.00%	East Texas Bridge, Inc.	\$50.00	1,807.00	SY	\$90,350.00	\$0.00
529 9998			\$17.00	6,782.00	LF	\$115,294.00	+
	-2.94%	H. H. Howard & Sons	\$16.50	6,782.00	LF	\$111,903.00	-\$3,391.00

.

ltem	Description		Price	Qty	Unit	Ext. Amount	Deviation
	-17.65%	JW Payne Construction, LLC	\$14.00	6,782.00	LF	\$94,948.00	-\$20,346.00
	17.65%	Longview Bridge and Road, Ltd.	\$20.00	6,782.00	LF	\$135,640.00	\$20,346.00
	-70.59%	TJ Lambrecht Construction	\$5.00	6,782.00	LF	\$33,910.00	-\$81,384.00
	-23.53%	James Construction Group	\$13.00	6,782.00	LF	\$88,166.00	-\$27,128.00
	-11.76%	East Texas Bridge, Inc.	\$15.00	6,782.00	LF	\$101,730.00	-\$13,564.00
529 9999		´Y II)(6")	\$17.00	280.00	LF	\$4,760.00	
	17.65%	H. H. Howard & Sons	\$20.00	280.00	LF	\$5,600.00	\$840.00
	-29.41%	JW Payne Construction, LLC	\$12.00	280.00	LF	\$3,360.00	-\$1,400.00
	5.88%	Longview Bridge and Road, Ltd.	\$18.00	280.00	LF	\$5,040.00	\$280.00
	-70.59%	TJ Lambrecht Construction	\$5.00	280.00	LF	\$1,400.00	-\$3,360.00
	-17.65%	James Construction Group	\$14.00	280.00	LF	\$3,920.00	-\$840.00
	-17.65%	East Texas Bridge, Inc.	\$14.00	280.00	LF	\$3,920.00	-\$840.00
530 2005			\$45.00	1,050.00	SY	\$47,250.00	
	6.67%	H. H. Howard & Sons	\$48.00	1,050.00	SY	\$50,400.00	\$3,150.00
	-22.22%	JW Payne Construction, LLC	\$35.00	1,050.00	SY	\$36,750.00	-\$10,500.00
	-22.22%	Longview Bridge and Road, Ltd.	\$35.00	1,050.00	SY	\$36,750.00	-\$10,500.00
	-73.33%	TJ Lambrecht Construction	\$12.00	1,050.00	SY	\$12,600.00	-\$34,650.00
	24.44%	James Construction Group	\$56.00	1,050.00	SY	\$58,800.00	\$11,550.00
	-6.67%	East Texas Bridge, Inc.	\$42.00	1,050.00	SY	\$44,100.00	-\$3,150.00
530 2006	INTERSECTION (SURFACI	E TREAT)	\$15.00	6,633.00	SY	\$99,495.00	
	53.33%	H. H. Howard & Sons	\$23.00	6,633.00	SY	\$152,559.00	\$53,064.00
	53.33%	JW Payne Construction, LLC	\$23,00	6,633.00	SY	\$152,559.00	\$53,064.00
	20.00%	Longview Bridge and Road, Ltd.	\$18.00	6,633.00	SY	\$119,394,00	\$19,899.00
	100.00%	TJ Lambrecht Construction	\$30.00	6,633.00	SY	\$198,990.00	\$99,495.00
	53.33%	James Construction Group	\$23.00	6,633.00	SY	\$152,559.00	\$53,064.00
	100.00%	East Texas Bridge, Inc.	\$30.00	6,633.00	SY	\$198,990.00	\$99,495.00
530 2010	DRIVEWAYS (CONC)		\$30.00	209.00	SY	\$6,270.00	,
	66.67%	H. H. Howard & Sons	\$50.00	209.00	SY	\$10,450.00	\$4,180.00
	50.00%	JW Payne Construction, LLC	\$45.00	209.00	SY	\$9,405.00	\$3,135.00
	116.67%	Longview Bridge and Road, Ltd.	\$65.00	209.00	SY	\$13,585.00	\$7,315.00
	60.00%	TJ Lambrecht Construction	\$48.00	209.00	SY	\$10,032.00	\$3,762.00
	73.33%	James Construction Group	\$52.00	209.00	SY	\$10,868.00	\$4,598.00
	116.67%	East Texas Bridge, Inc.	\$65.00	209.00	SY	\$13,585.00	\$7,315.00
530 2011	DRIVEWAYS (ACP)		\$18.00	909.00	SY	\$16,362.00	41,010.00
	150.00%	H. H. Howard & Sons	\$45.00	909.00	SY	\$40,905.00	\$24,543.00
	133.33%	JW Payne Construction, LLC	\$42.00	909.00	SY	\$38,178.00	\$21,816.00
	150.00%	Longview Bridge and Road, Ltd.	\$45.00	909.00	SY	\$40,905.00	\$24,543.00
	50.00%	TJ Lambrecht Construction	\$27.00	909.00	SY	\$24,543.00	\$8,181.0
	150.00%	James Construction Group	\$45.00	909.00	SY	\$40,905.00	\$24,543.00
	150.00%	East Texas Bridge, Inc.	\$45.00	909.00	SY	\$40,905.00	\$24,543.00
530 2012	DRIVEWAYS (SURF TREA		\$18.00	6,551.00		\$117,918.00	<i>\$24,040.0</i>

٠

ltem	Description		Price	Qty	Unit	Ext. Amount	Deviation
	-41.67%	H. H. Howard & Sons	\$10.50	6,551.00	SY	\$68,785.50	-\$49,132.50
	-41.67%	JW Payne Construction, LLC	\$10.50	6,551.00	SY	\$68,785.50	-\$49,132.50
	-11.11%	Longview Bridge and Road, Ltd.	\$16.00	6,551.00	SY	\$104,816.00	-\$13,102.00
	5.56%	TJ Lambrecht Construction	\$19.00	6,551.00	SY	\$124,469.00	\$6,551.00
	-16.67%	James Construction Group	\$15.00	6,551.00	SY	\$98,265.00	-\$19,653.00
	22.22%	East Texas Bridge, Inc.	\$22.00	6,551.00	SY	\$144,122.00	\$26,204.00
536 2002	CONC MEDIAN		\$55.00	302.00	SY	\$16,610.00	
	0.00%	H. H. Howard & Sons	\$55.00	302.00	SY	\$16,610.00	\$0.00
	-16.36%	JW Payne Construction, LLC	\$46.00	302.00	SY	\$13,892.00	-\$2,718.00
	36.36%	Longview Bridge and Road, Ltd.	\$75.00	302.00	SY	\$22,650.00	\$6,040.00
	-25.45%	TJ Lambrecht Construction	\$41.00	302.00	SY	\$12,382.00	-\$4,228.00
	-36.36%	James Construction Group	\$35.00	302.00	SY	\$10,570.00	-\$6,040.00
	-9.09%	East Texas Bridge, Inc.	\$50.00	302.00	SY	\$15,100.00	-\$1,510.00
540 2001	MTL W - BEAM GD FE		\$17.50	1,088.00	LF	\$19,040.00	+
	14.29%	H. H. Howard & Sons	\$20.00	1,088.00	LF	\$21,760.00	\$2,720.00
	-5.71%	JW Payne Construction, LLC	\$16.50	1.088.00	LF	\$17,952.00	-\$1,088.00
	0.00%	Longview Bridge and Road, Ltd.	\$17.50	1,088.00	LF	\$19,040.00	\$0.00
	25.71%	TJ Lambrecht Construction	\$22.00	1,088.00	LF	\$23,936.00	\$4,896.00
	17.43%	James Construction Group	\$20.55	1,088.00	LF	\$22,358.40	\$3,318.40
	-2.86%	East Texas Bridge, Inc.	\$17.00	1,088.00	LF	\$18,496.00	-\$544.00
540 2011	MTL BEAM GD FEN TF		\$1,500.00	4.00	EA	\$6,000.00	•
	-6,67%	H. H. Howard & Sons	\$1,400.00	4.00	EA	\$5,600.00	-\$400.00
	-23.33%	JW Payne Construction, LLC	\$1,150.00	4.00	EA	\$4,600.00	-\$1,400.00
	-21.67%	Longview Bridge and Road, Ltd.	\$1,175.00	4.00	EA	\$4,700.00	-\$1,300.00
	-6.67%	TJ Lambrecht Construction	\$1,400.00	4.00	EA	\$5,600.00	-\$400.00
	-9.33%	James Construction Group	\$1,360.00	4.00	EA	\$5,440.00	-\$560.00
	-16.67%	East Texas Bridge, Inc.	\$1,250.00	4,00	EA	\$5,000.00	-\$1,000.00
542 2001	REMOVE MBGF		\$2.00	288.00	LF	\$576.00	¥ 1,000.00
	0.00%	H. H. Howard & Sons	\$2.00	288.00	LF	\$576.00	\$0.00
	0.00%	JW Payne Construction, LLC	\$2.00	288.00	LF	\$576.00	\$0.00
	5.00%	Longview Bridge and Road, Ltd.	\$2.10	288.00	LF	\$604.80	\$28.80
	32.50%	TJ Lambrecht Construction	\$2.65	288.00	LF	\$763.20	\$187.20
	25.00%	James Construction Group	\$2.50	288.00	LF	\$720,00	\$144.00
	25.00%	East Texas Bridge, Inc.	\$2.50	288.00	LF	\$720.00	\$144.00
544 2001	GUARDRAIL END TRE		\$2,200.00	12.00	ĒA	\$26,400.00	ψ, - 1.00
	-9.09%	H. H. Howard & Sons	\$2,000.00	12.00	EA	\$24,000.00	-\$2,400.00
	-14.77%	JW Payne Construction, LLC	\$1,875.00	12.00	EA	\$22,500.00	-\$3,900.00
	-6.82%	Longview Bridge and Road, Ltd.	\$2,050.00	12.00	EA	\$24,600.00	-\$1,800.00
	-9.09%	TJ Lambrecht Construction	\$2,000.00	12.00	EA	\$24,000.00	-\$2,400.00
	-14.09%	James Construction Group	\$1,890.00	12.00	EA	\$22,680.00	-\$3,720.00
	-9.09%	East Texas Bridge, Inc.	\$2,000.00	12.00	EA	\$24,000.00	-\$2,400.00

.

ltem	Description		Price	Qty	Unit	Ext. Amount	Deviation
550 2020	CHAIN LINK FEN	CE (INSTALL) (8')	\$35.00	200.00	LF	\$7,000.00	
	185.71%	H. H. Howard & Sons	\$100.00	200.00	LF	\$20,000.00	\$13,000.0
	170.14%	JW Payne Construction, LLC	\$94.55	200.00	LF	\$18,910.00	\$11, 9 10.0
	185.71%	Longview Bridge and Road, Ltd.	\$100.00	200.00	LF	\$20,000.00	\$13,000.0
	-14.29%	TJ Lambrecht Construction	\$30.00	200.00	LF	\$6,000.00	-\$1,000.0
	-14.29%	James Construction Group	\$30.00	200.00	LF	\$6,000.00	-\$1,000.0
	114.29%	East Texas Bridge, Inc.	\$75.00	200.00	LF	\$15,000.00	\$8,000.0
560 2004	MAILBOX INSTAI	L - S (WC - POST) TY 3 FND	\$130.00	5.00	EA	\$650.00	
	0.00%	H. H. Howard & Sons	\$130.00	5.00	EA	\$650.00	\$0.0
	0.00%	JW Payne Construction, LLC	\$130.00	5.00	EA	\$650.00	\$0.0
	-15.38%	Longview Bridge and Road, Ltd.	\$110.00	5.00	EA	\$550.00	-\$100.0
	7.69%	TJ Lambrecht Construction	\$140.00	5.00	EA	\$700.00	\$50.0
	123.08%	James Construction Group	\$290.00	5.00	EA	\$1,450.00	\$800.0
	150.00%	East Texas Bridge, Inc.	\$325.00	5.00	EA	\$1,625.00	\$975.0
560 2005	MAILBOX INSTAI	L - D (WC - POST) TY 3 FND	\$180.00	5.00	EA	\$900.00	
	-16.67%	H. H. Howard & Sons	\$150.00	5.00	EA	\$750.00	-\$150.0
	-16.67%	JW Payne Construction, LLC	\$150.00	5.00	EA	\$750.00	-\$150.0
	-27.22%	Longview Bridge and Road, Ltd.	\$131.00	5.00	EA	\$655.00	-\$245.
	-11.11%	TJ Lambrecht Construction	\$160.00	5.00	EA	\$800.00	-\$100.
	-16.67%	James Construction Group	\$150.00	5.00	EA	\$750.00	-\$150.0
	80.56%	East Texas Bridge, Inc.	\$325.00	5.00	EA	\$1,625.00	\$725.0
560 2024	MAILBOX INSTAI	L - M (TWG - POST) TY 2 FND	\$300.00	3.00	EA	\$900.00	
	-3.33%	H. H. Howard & Sons	\$290.00	3.00	EA	\$870.00	-\$30.0
	-3.33%	JW Payne Construction, LLC	\$290.00	3.00	EA	\$870.00	-\$30.0
	3.33%	Longview Bridge and Road, Ltd.	\$310.00	3.00	EA	\$930.00	\$30.0
	3.33%	TJ Lambrecht Construction	\$310.00	3.00	EA	\$930.00	\$30.0
	-56.67%	James Construction Group	\$130.00	3.00	EA	\$390.00	-\$510.0
	8.33%	East Texas Bridge, Inc.	\$325.00	3.00	EA	\$975.00	\$75.0
610 2025	INS RD IL AM (T)	(SA) 40T-8 (.25KW)S	\$2,600.00	2.00	EA	\$5,200.00	,
	15.38%	H. H. Howard & Sons	\$3,000.00	2.00	EA	\$6,000.00	\$800.0
	15.38%	JW Payne Construction, LLC	\$3,000.00	2.00	EA	\$6,000.00	\$800.0
	23.08%	Longview Bridge and Road, Ltd.	\$3,200.00	2.00	EA	\$6,400.00	\$1,200.0
	23.08%	TJ Lambrecht Construction	\$3,200.00	2.00	EA	\$6,400.00	\$1,200.
	15.38%	James Construction Group	\$3,000.00	2.00	EA	\$6,000.00	\$800.
	26.92%	East Texas Bridge, Inc.	\$3,300.00	2.00	EA	\$6,600.00	\$1,400.
618 2018		H 40(2 IN) (TRENCH)	\$5.05	1,184.00	LF	\$5,979.20	ψ1,400.
	18.81%	H. H. Howard & Sons	\$6.00	1,184.00	LF	\$7,104.00	\$1,124.
	18.81%	JW Payne Construction, LLC	\$6.00	1,184.00	LF	\$7,104.00	\$1,124.
	24.75%	Longview Bridge and Road, Ltd.	\$6.30	1,184.00	LF	\$7,459.20	\$1,480.
	18.81%	TJ Lambrecht Construction	\$6.00	1,184.00	LF	\$7,104.00	\$1,124.
	18.81%	James Construction Group	\$6.00	1,184.00	ĹF	\$7,104.00	\$1,124.

•

ltem	Description		Price	Qty	Unit	Ext. Amount	Deviation
	30.69%	East Texas Bridge, Inc.	\$6.60	1,184.00	LF	\$7,814.40	\$1,835.20
618 2024		(4 IN) (TRENCH)	\$13.00	382.00	LF	\$4,966.00	
	-30.77%	H. H. Howard & Sons	\$9.00	382.00	LF	\$3,438.00	-\$1,528.00
	-30.77%	JW Payne Construction, LLC	\$9.00	382.00	LF	\$3,438.00	-\$1,528.00
	-27.31%	Lorigview Bridge and Road, Ltd.	\$9.45	382.00	LF	\$3,609.90	-\$1,356.10
	-23.08%	TJ Lambrecht Construction	\$10.00	382.00	LF	\$3,820.00	-\$1,146.00
	-30.77%	James Construction Group	\$9.00	382.00	LF	\$3,438.00	-\$1,528.00
	-23.08%	East Texas Bridge, Inc.	\$10.00	382.00	LF ·	\$3,820.00	-\$1,146.00
618 2035	CONDUIT (PVC) (SCH	D 80) (2")(BORE)	\$6.65	120.00	LF	\$798.00	
	170.68%	H. H. Howard & Sons	\$18.00	120.00	LF	\$2,160.00	\$1,362.00
	170.68%	JW Payne Construction, LLC	\$18.00	120.00	LF	\$2,160.00	\$1,362.00
	185.71%	Longview Bridge and Road, Ltd.	\$19.00	120.00	LF	\$2,280.00	\$1,482.00
	185.71%	TJ Lambrecht Construction	\$19.00	120.00	LF	\$2,280.00	\$1,482.00
	170.68%	James Construction Group	\$18.00	120.00	LF	\$2,160.00	\$1,362.00
	200.75%	East Texas Bridge, Inc.	\$20.00	120.00	LF	\$2,400.00	\$1,602.00
618 2041	CONDUIT (PVC) (SCH	D 80) (4 IN.)(BORE)	\$25.00	680.00	LF	\$17,000.00	
	-16.00%	H. H. Howard & Sons	\$21.00	680.00	LF	\$14,280.00	-\$2,720.00
	-16.00%	JW Payne Construction, LLC	\$21.00	680.00	LF	\$14,280.00	-\$2,720.00
	-12.00%	Longview Bridge and Road, Ltd.	\$22.00	680.00	LF	\$14,960.00	-\$2,040.00
	-12.00%	TJ Lambrecht Construction	\$22.00	680.00	LF	\$14,960.00	-\$2,040.00
	-16.00%	James Construction Group	\$21.00	680.00	LF	\$14,280.00	-\$2,720.00
	-8.00%	East Texas Bridge, Inc.	\$23.00	680.00	LF	\$15,640.00	-\$1,360.00
620 2009	ELEC CONDR (NO.6) I	BARE	\$1.30	2,327.00	LF	\$3,025.10	
	-3.85%	H. H. Howard & Sons	\$1.25	2,327.00	LF	\$2,908.75	-\$116.35
	-3.85%	JW Payne Construction, LLC	\$1.25	2,327.00	LF	\$2,908.75	-\$116.35
	0.00%	Longview Bridge and Road, Ltd.	\$1.30	2,327.00	LF	\$3,025.10	\$0.00
	53.85%	TJ Lambrecht Construction	\$2.00	2,327.00	LF	\$4,654.00	\$1,628.90
	-3.85%	James Construction Group	\$1.25	2,327.00	LF	\$2,908.75	-\$116.35
	7.69%	East Texas Bridge, Inc.	\$1.40	2,327.00	LF	\$3,257.80	\$232.70
620 2010	ELEC CONDR (NO. 6)	INSULATED	\$1.25	242.00	LF	\$302.50	• • • •
	0.00%	H. H. Howard & Sons	\$1.25	242.00	LF	\$302.50	\$0.00
	0.00%	JW Payne Construction, LLC	\$1.25	242.00	LF	\$302.50	\$0.00
	4.00%	Longview Bridge and Road, Ltd.	\$1.30	242.00	LF	\$314.60	\$12.10
	60.00%	TJ Lambrecht Construction	\$2.00	242.00	LF	\$484.00	\$181.50
	0.00%	James Construction Group	\$1.25	242.00	LF	\$302.50	\$0.00
	12.00%	East Texas Bridge, Inc.	\$1.40	242.00	LF	\$338.80	\$36.30
620 2012	ELEC CONDR (NO. 8)		\$0.88	4,479.00	LF	\$3,941.52	+ 30.00
	25.00%	H. H. Howard & Sons	\$1.10	4,479.00	LF	\$4,926.90	\$985.38
	25.00%	JW Payne Construction, LLC	\$1.10	4,479.00	LF	\$4,926.90	\$985.38
	31.82%	Longview Bridge and Road, Ltd.	\$1.16	4,479.00	LF	\$5,195.64	\$1,254.12
	30.68%	TJ Lambrecht Construction	\$1.15	4,479.00	LF	\$5,150.85	\$1,209.33

.

ltem	Description		Price	Qty	Unit	Ext. Amount	Deviation
	25.00%	James Construction Group	\$1.10	4,479.00	LF	\$4,926.90	\$985.38
	36.36%	East Texas Bridge, Inc.	\$1.20	4,479.00	LF	\$5,374.80	\$1,433.28
620 2016		ATED	\$0.75	960.00	LF	\$720.00	
	0.00%	H. H. Howard & Sons	\$0.75	960.00	LF	\$720.00	\$0.00
	0.00%	JW Payne Construction, LLC	\$0.75	960.00	LF	\$720.00	\$0.00
	5.33%	Longview Bridge and Road, Ltd.	\$0.79	960.00	LF	\$758.40	\$38.40
	6.67%	TJ Lambrecht Construction	\$0.80	960.00	LF	\$768.00	\$48.00
	0.00%	James Construction Group	\$0.75	960.00	LF	\$720.00	\$0.00
	33.33%	East Texas Bridge, Inc.	\$1.00	960.00	LF	\$960.00	\$240.00
624 2008	GROUND BOX TY A (122311)	W/APRON	\$540.00	2.00	EA	\$1,080.00	
	0.93%	H. H. Howard & Sons	\$545.00	2.00	EA	\$1,090.00	\$10.00
	0.93%	JW Payne Construction, LLC	\$545.00	2.00	EA	\$1,090.00	\$10.00
	5.56%	Longview Bridge and Road, Ltd.	\$570.00	2.00	EA	\$1,140.00	\$60.00
	6.48%	TJ Lambrecht Construction	\$575.00	2.00	EA	\$1,150.00	\$70.00
	0.93%	James Construction Group	\$545.00	2.00	EA	\$1,090.00	\$10.00
	11.11%	East Texas Bridge, Inc.	\$600.00	2.00	EA	\$1,200.00	\$120.00
624 2014	GROUND BOX TY D (162922)	W/APRON	\$600.00	10.00	EA	\$6,000.00	
	-0.83%	H. H. Howard & Sons	\$595.00	10.00	EA	\$5,950.00	-\$50.00
	-0.83%	JW Payne Construction, LLC	\$595.00	10.00	EA	\$5,950.00	-\$50.00
	4.17%	Longview Bridge and Road, Ltd.	\$625.00	10.00	EA	\$6,250.00	\$250.00
	5.00%	TJ Lambrecht Construction	\$630.00	10.00	EA	\$6,300.00	\$300.00
	-0.83%	James Construction Group	\$595.00	10.00	EA	\$5,950.00	-\$50.00
	6.67%	East Texas Bridge, Inc.	\$640.00	10.00	EA	\$6,400.00	\$400.00
628 2158	REMOVE ELECTRICAL SERV	ICE	\$1,500.00	2.00	EA	\$3,000.00	
	-80.00%	H. H. Howard & Sons	\$300.00	2.00	EA	\$600.00	-\$2,400.00
	-80.00%	JW Payne Construction, LLC	\$300.00	2.00	EA	\$600.00	-\$2,400.00
	-79.00%	Longview Bridge and Road, Ltd.	\$315.00	2.00	EA	\$630.00	-\$2,370.00
	-78.80%	TJ Lambrecht Construction	\$318.00	2.00	EA	\$636.00	-\$2,364.00
	-80.00%	James Construction Group	\$300.00	2.00	EA	\$600.00	-\$2,400.00
	-78.00%	East Texas Bridge, Inc.	\$330.00	2.00	EA	\$660.00	-\$2,340.00
628 2164	ELEC SERV (TY D)120/240 07		\$2,500.00	2.00	EA	\$5,000.00	,
	88.00%	H. H. Howard & Sons	\$4,700.00	2.00	EA	\$9,400.00	\$4,400.00
	88.00%	JW Payne Construction, LLC	\$4,700.00	2.00	EA	\$9,400.00	\$4,400.00
	96.00%	Longview Bridge and Road, Ltd.	\$4,900.00	2.00	EA	\$9,800.00	\$4,800.00
	100.00%	TJ Lambrecht Construction	\$5,000.00	2.00	EA	\$10,000.00	\$5,000.00
	88.00%	James Construction Group	\$4,700.00	2.00	EA	\$9,400.00	\$4,400.00
	100.00%	East Texas Bridge, Inc.	\$5,000.00	2.00	EA	\$10,000.00	\$5,000.00
636 2001	ALUMINUM SIGNS (TY A)		\$13.45	96.00	SF	\$1,291.20	40,000.00
	63.57%	H. H. Howard & Sons	\$22.00	96.00	SF	\$2,112.00	\$820.80
	63.57%	JW Payne Construction, LLC	\$22.00	96.00	SF	\$2,112.00	\$820.80
	85.87%	Longview Bridge and Road, Ltd.	\$25.00	96.00	SF	\$2,400.00	\$1,108.80

٠

Item	Description		Price	Qty		Unit	Ext. Amount	Deviation
	71.00%	TJ Lambrecht Construction	\$23.00		96.00	SF	\$2,208.00	\$916.8
	63.57%	James Construction Group	\$22.00		96.00	SF	\$2,112.00	\$820.8
	78.44%	East Texas Bridge, Inc.	\$24.00		96.00	SF	\$2,304.00	\$1,012.8
644 2004	IN SM RD SGN ASSM 1	TY 10BWG (1) SA (T)	\$550.00		7.00	EA	\$3,850.00	
	22.73%	H. H. Howard & Sons	\$675.00		7.00	EA	\$4,725.00	\$875.0
	22.73%	JW Payne Construction, LLC	\$675.00		7.00	EA	\$4,725.00	\$875.0
	-18.18%	Longview Bridge and Road, Ltd.	\$450.00		7.00	EA	\$3,150.00	-\$700.0
	30.00%	TJ Lambrecht Construction	\$715.00		7,00	EA	\$5,005.00	\$1,155.0
	22.73%	James Construction Group	\$675.00		7.00	EA	\$4,725.00	\$875.0
	27.27%	East Texas Bridge, Inc.	\$700.00		7.00	EA	\$4,900.00	\$1,050.0
644 2006	IN SM RD SGN ASSM 1	TY 10BWG (1) SA (U)	\$550.00		10.00	EA	\$5,500.00	
	18.18%	H. H. Howard & Sons	\$650.00		10.00	EA	\$6,500.00	\$1,000.0
	18.18%	JW Payne Construction, LLC	\$650.00		10.00	EA	\$6,500,00	\$1,000.0
	-10.00%	Longview Bridge and Road, Ltd.	\$495.00		10.00	EA	\$4,950.00	-\$550.0
	25.45%	TJ Lambrecht Construction	\$690.00		10.00	EA	\$6,900.00	\$1,400.0
	18.18%	James Construction Group	\$650.00		10.00	EA	\$6,500,00	\$1,000.0
	27.27%	East Texas Bridge, Inc.	\$700.00		10.00	EA	\$7,000.00	\$1,500.0
644 2053	IN SM RD SGN ASSM 1	TY TWT (1) WA (P)	\$450.00		35.00	EA	\$15,750.00	+
	-40.00%	H. H. Howard & Sons	\$270.00		35.00	EA	\$9,450.00	-\$6,300.
	-40.00%	JW Payne Construction, LLC	\$270.00		35.00	EA	\$9,450.00	-\$6,300.
	-47.78%	Longview Bridge and Road, Ltd.	\$235.00		35.00	EA	\$8,225.00	-\$7,525.
	-36.67%	TJ Lambrecht Construction	\$285.00		35.00	EA	\$9,975.00	-\$5,775.
	-40.00%	James Construction Group	\$270.00		35.00	EA	\$9,450.00	-\$6,300.0
	-33.33%	East Texas Bridge, Inc.	\$300.00		35.00	EA	\$10,500.00	-\$5,250.0
644 2054	IN SM RD SGN ASSM 1		\$500.00		1.00	EA	\$500.00	+0,200.
	-41.00%	H. H. Howard & Sons	\$295.00		1.00	EA	\$295.00	-\$205.
	-41.00%	JW Payne Construction, LLC	\$295.00		1.00	ĒA	\$295.00	-\$205.0
	-42.00%	Longview Bridge and Road, Ltd.	\$290.00		1.00	EA	\$290.00	-\$210.0
	-37.00%	TJ Lambrecht Construction	\$315.00		1.00	EA	\$315.00	-\$185.0
	-41.00%	James Construction Group	\$295.00		1.00	EA	\$295.00	-\$205.0
	-34,00%	East Texas Bridge, Inc.	\$330.00		1.00	EA	\$330.00	-\$170,0
644 2060	REMOVE SM RD SN SI		\$125.00		17.00	EA	\$2,125.00	-4170.5
	-44.00%	H. H. Howard & Sons	\$70.00		17.00	EA	\$1,190.00	-\$935.0
	-44.00%	JW Payne Construction, LLC	\$70.00		17.00	EA	\$1,190.00	-\$935.0
	-64.00%	Longview Bridge and Road, Ltd.	\$45.00		17.00	EA	\$765.00	-\$1,360.
	-40.80%	TJ Lambrecht Construction	\$74.00		17.00	EA	\$1,258.00	-\$1,300. -\$867.
	-44.00%	James Construction Group	\$74.00		17.00	EA	\$1,258.00	-\$667. -\$935.
	-40.00%	East Texas Bridge, Inc.	\$75.00		17.00	EA		
644 2079	IN SM RD SGN ASSM 1		\$75.00 \$800.00		4.00	EA	\$1,275.00	-\$850.
	28.13%	H. H. Howard & Sons	\$800.00			EA EA	\$3,200.00	*^^^
	28.13%	JW Payne Construction, LLC			4.00	EA EA	\$4,100.00	\$900.0
	20.13/0	Jvv Payne Construction, LLC	\$1,025.00		4.00	EA	\$4,100.00	\$900.

.

•

Item	Description		Price	Qty	Unit	Ext. Amount	Deviation
	-12.50%	Longview Bridge and Road, Ltd.	\$700.00	4.00	EA	\$2,800.00	-\$400.00
	37.50%	TJ Lambrecht Construction	\$1,100.00	4.00	EA	\$4,400.00	\$1,200.00
	28.13%	James Construction Group	\$1,025.00	4.00	EA	\$4,100.00	\$900.00
	50.00%	East Texas Bridge, Inc.	\$1,200.00	4.00	EA	\$4,800.00	\$1,600.00
658 2240	INSTL DEL ASSM (D-S	M)SZ 1(FLX)GF2	\$62.00	19.00	EA	\$1,178.00	
	-38.71%	H. H. Howard & Sons	\$38.00	19.00	EA	\$722.00	-\$456.00
	-48.39%	JW Payne Construction, LLC	\$32.00	19.00	EA	\$608.00	-\$570.0
	-53.23%	Longview Bridge and Road, Ltd.	\$29,00	19.00	EA	\$551.00	-\$627.00
	-40.32%	TJ Lambrecht Construction	\$37.00	19.00	EA	\$703.00	-\$475.0
	-43.55%	James Construction Group	\$35.00	19.00	EA	\$665.00	-\$513.00
	-43.55%	East Texas Bridge, Inc.	\$35.00	19.00	EA	\$665.00	-\$513.0
658 2316	INSTL OM ASSM (OM-		\$48.00	26.00	EA	\$1,248.00	
	-6.25%	H. H. Howard & Sons	\$45.00	26.00	EA	\$1,170.00	-\$78.0
	-12.50%	JW Payne Construction, LLC	\$42.00	26.00	EA	\$1,092.00	-\$156.00
	0.00%	Longview Bridge and Road, Ltd.	\$48.00	26.00	EA	\$1,248.00	\$0.0
	0.00%	TJ Lambrecht Construction	\$48.00	26,00	EA	\$1,248.00	\$0.0
	-6.25%	James Construction Group	\$45.00	26.00	EA -	\$1,170.00	-\$78.0
	4,17%	East Texas Bridge, Inc.	\$50.00	26.00	EA	\$1,300.00	\$52.0
662 2001	WK ZN PAV MRK NON	•	\$0.18	3,186.00	LF	\$573.48	
	-16.67%	H. H. Howard & Sons	\$0.15	3,186.00	LF	\$477.90	-\$95,5
	-16.67%	JW Payne Construction, LLC	\$0.15	3,186.00	LF	\$477.90	-\$95.5
	-11.11%	Longview Bridge and Road, Ltd.	\$0.16	3,186.00	LF	\$509.76	-\$63.7
	-11.11%	TJ Lambrecht Construction	\$0.16	3,186.00	LF	\$509.76	-\$63.7
	-16.67%	James Construction Group	\$0.15	3,186.00	LF	\$477.90	-\$95.5
	-5.56%	East Texas Bridge, Inc.	\$0.17	3,186.00	LF	\$541.62	-\$31.8
662 2004	WK ZN PAV MRK NON		\$0.15	44.047.00	LF	\$6,607.05	•
	0.00%	H. H. Howard & Sons	\$0.15	44,047.00	LF	\$6,607.05	\$0.0
	0.00%	JW Payne Construction, LLC	\$0.15	44,047.00	LF	\$6,607.05	\$0.0
	6.67%	Longview Bridge and Road, Ltd.	\$0,16	44,047.00	LF	\$7,047.52	\$440.4
	6.67%	TJ Lambrecht Construction	\$0.16	44,047.00	LF	\$7,047.52	\$440.4
	0.00%	James Construction Group	\$0,15	44,047.00	LF	\$6,607.05	\$0.0
	13.33%	East Texas Bridge, Inc.	\$0.17	44,047.00	LF	\$7,487.99	\$880.9
662 2016		- REMOV (W) 24" (SLD)	\$1,90	114.00	LF	\$216.60	+
	84.21%	H. H. Howard & Sons	\$3.50	114.00	LF	\$399.00	\$182.4
	84.21%	JW Payne Construction, LLC	\$3.50	114.00	LF	\$399.00	\$182.4
	94.74%	Longview Bridge and Road, Ltd.	\$3.70	114.00	LF	\$421.80	\$205.2
	110.53%	TJ Lambrecht Construction	\$4.00	114.00	LF	\$456.00	\$239.4
	84.21%	James Construction Group	\$3.50	114.00	LF	\$399.00	\$182.4
	110.53%	East Texas Bridge, Inc.	\$4.00	114.00	LF	\$456.00	\$239.4
662 2032	WK ZN PAV MRK NON		\$0.18	45,142.00	LF	\$430.00	Ψ200.4
002 2032	-16.67%	H. H. Howard & Sons	\$0.15	45,142.00	LF	\$6,771.30	-\$1,354.2

•

•

ltern	Description		Price	Qty	Unit	Ext. Amount	Deviation
	-16.67%	JW Payne Construction, LLC	\$0.15	45,142.00	LF	\$6,771.30	-\$1,354.26
	-11.11%	Longview Bridge and Road, Ltd.	\$0.16	45,142.00	LF	\$7,222.72	-\$902.84
	-11.11%	TJ Lambrecht Construction	\$0.16	45,142.00	LF	\$7,222.72	-\$902.84
	-16.67%	James Construction Group	\$0.15	45,142.00	LF	\$6,771.30	-\$1,354.26
	-5.56%	East Texas Bridge, Inc.	\$0.17	45,142.00	LF	\$7,674.14	-\$451.42
662 2064	WK ZN PAV MRK REM	10V (W) 4" (SLD)	\$0.55	941.00	LF	\$517.55	
	263.64%	H. H. Howard & Sons	\$2.00	941.00	LF	\$1,882.00	\$1,364.45
	81.82%	JW Payne Construction, LLC	\$1.00	941.00	LF	\$941.00	\$423.45
	118.18%	Longview Bridge and Road, Ltd.	\$1.20	941.00	LF	\$1,129.20	\$611.65
	100.00%	TJ Lambrecht Construction	\$1.10	941.00	LF	\$1,035.10	\$517,55
	127.27%	James Construction Group	\$1.25	941.00	LF	\$1,176.25	\$658.70
	263.64%	East Texas Bridge, Inc.	\$2.00	941.00	LF	\$1,882.00	\$1,364.45
662 2099	WK ZN PAV MRK REM	10V (Y) 4" (SLD)	\$0.55	1,836.00	LF	\$1,009.80	
	263.64%	H. H. Howard & Sons	\$2.00	1,836.00	LF	\$3,672.00	\$2,662.20
	81.82%	JW Payne Construction, LLC	\$1.00	1,836.00	LF	\$1,836.00	\$826.20
	118.18%	Longview Bridge and Road, Ltd.	\$1.20	1,836.00	LF	\$2,203.20	\$1,193.40
	100.00%	TJ Lambrecht Construction	\$1.10	1,836.00	LF	\$2,019.60	\$1,009.80
	127.27%	James Construction Group	\$1.25	1,836.00	LF	\$2,295.00	\$1,285.20
	263.64%	East Texas Bridge, Inc.	\$2.00	1,836.00	LF	\$3,672.00	\$2,662.20
662 2113	WK ZN PAV MRK SHI	TERM (TAB) TY W	\$0.90	616.00	EA	\$554.40	
	177.78%	H. H. Howard & Sons	\$2.50	616.00	EA	\$1,540.00	\$985.60
	-16.67%	JW Payne Construction, LLC	\$0.75	616.00	EA	\$462.00	-\$92.40
	5.56%	Longview Bridge and Road, Ltd.	\$0.95	616.00	EA	\$585.20	\$30.80
	-11.11%	TJ Lambrecht Construction	\$0.80	616.00	EA	\$492.80	-\$61.60
	11.11%	James Construction Group	\$1.00	616.00	EA	\$616.00	\$61.60
	33.33%	East Texas Bridge, Inc.	\$1.20	616.00	EA	\$739.20	\$184.80
662 2115	WK ZN PAV MRK SHI	TERM (TAB) TY Y - 2	\$0.85	231.00	EA	\$196.35	
	194.12%	H, H. Howard & Sons	\$2.50	231.00	EA	\$577.50	\$381.15
	-11.76%	JW Payne Construction, LLC	\$0.75	231.00	EA	\$173.25	-\$23.10
	11.76%	Longview Bridge and Road, Ltd.	\$0.95	231.00	EA	\$219.45	\$23.10
	-5.88%	TJ Lambrecht Construction	\$0.80	231.00	EA	\$184.80	-\$11.55
	17.65%	James Construction Group	\$1.00	231.00	EA	\$231.00	\$34.65
	41.18%	East Texas Bridge, Inc.	\$1.20	231.00	EA	\$277.20	\$80.85
668 2105	PREFAB PAV MRK TY		\$5.80	500.00	LF	\$2,900.00	•
	89.66%	H. H. Howard & Sons	\$11.00	500.00	LF	\$5,500.00	\$2,600.00
	89.66%	JW Payne Construction, LLC	\$11.00	500.00	LF	\$5,500.00	\$2,600.00
	99.14%	Longview Bridge and Road, Ltd.	\$11.55	500.00	LF	\$5,775.00	\$2,875.00
	106.90%	TJ Lambrecht Construction	\$12.00	500.00	LF	\$6,000.00	\$3,100.00
	89.66%	James Construction Group	\$11.00	500.00	LF	\$5,500.00	\$2,600.00
	124.14%	East Texas Bridge, Inc.	\$13.00	500.00	LF	\$6,500.00	\$3,600.00
668 2106	PREFAB PAV MRK		\$115.00	4.00	EA	\$460.00	ψ0,000.00

٠

ltem	Description		Price	Qty	Unit	Ext. Amount	Deviation
	30.43%	H. H. Howard & Sons	\$150.00	4.00	EA	\$600.00	\$140.00
	30.43%	JW Payne Construction, LLC	\$150.00	4.00	EA	\$600.00	\$140.00
	39.13%	Longview Bridge and Road, Ltd.	\$160.00	4.00	EA	\$640.00	\$180.00
	38.26%	TJ Lambrecht Construction	\$159.00	4.00	EA	\$636.00	\$176.00
	30.43%	James Construction Group	\$150.00	4.00	EA	\$600.00	\$140.00
	43.48%	East Texas Bridge, Inc.	\$165.00	4.00	EA	\$660.00	\$200.00
668 2116	PREFAB PAV MRK T	Y C (W)(WORD)	\$150.00	4.00	EA	\$600.00	
	50.00%	H. H. Howard & Sons	\$225.00	4.00	EA	\$900.00	\$300.00
	50.00%	JW Payne Construction, LLC	\$225.00	4.00	EA	\$900.00	\$300.00
	57.33%	Longview Bridge and Road, Ltd.	\$236.00	4.00	EA	\$944.00	\$344.00
	58.67%	TJ Lambrecht Construction	\$238.00	4.00	EA	\$952.00	\$352.00
	50.00%	James Construction Group	\$225.00	4.00	EA	\$900.00	\$300.00
	60.00%	East Texas Bridge, Inc.	\$240.00	4.00	EA	\$960.00	\$360.00
668 2128	PREFAB PAV MRK T	Y C (Y)(24")SLD	\$5.80	500.00	LF	\$2,900.00	
	89.66%	H. H. Howard & Sons	\$11.00	500.00	LF	\$5,500.00	\$2,600.00
	89.66%	JW Payne Construction, LLC	\$11.00	500.00	LF	\$5,500.00	\$2,600.00
	99.14%	Longview Bridge and Road, Ltd.	\$11.55	500.00	LF	\$5,775.00	\$2,875.00
	106.90%	TJ Lambrecht Construction	\$12.00	500.00	LF	\$6,000.00	\$3,100.00
	89.66%	James Construction Group	\$11.00	500.00	LF	\$5,500.00	\$2,600.00
	124.14%	East Texas Bridge, Inc.	\$13.00	500.00	LF	\$6,500.00	\$3,600.00
672 2012	REFL PAV MRKR TY	í I-C	\$3.00	120.00	EA	\$360.00	
	25.00%	H. H. Howard & Sons	\$3.75	120.00	EA	\$450.00	\$90.00
	25.00%	JW Payne Construction, LLC	\$3.75	120.00	EA	\$450.00	\$90.00
	31.67%	Longview Bridge and Road, Ltd.	\$3.95	120.00	EA	\$474.00	\$114.00
	33.33%	TJ Lambrecht Construction	\$4.00	120.00	EA	\$480.00	\$120.00
	25.00%	James Construction Group	\$3.75	120.00	EA	\$450.00	\$90.00
	33.33%	East Texas Bridge, Inc.	\$4.00	120.00	EA	\$480.00	\$120.00
672 2015	REFL PAV MRKR TY	II-AA	\$5.25	1,232.00	EA	\$6,468.00	
	-28.57%	H, H. Howard & Sons	\$3.75	1,232.00	EA	\$4,620.00	-\$1,848.00
	-28.57%	JW Payne Construction, LLC	\$3.75	1,232.00	EA	\$4,620.00	-\$1,848.00
	-24.76%	Longview Bridge and Road, Ltd.	\$3.95	1,232.00	EA	\$4,866.40	-\$1,601.60
	-23.81%	TJ Lambrecht Construction	\$4.00	1,232.00	EA	\$4,928.00	-\$1,540.00
	-28.57%	James Construction Group	\$3.75	1,232.00	EA	\$4,620.00	-\$1,848.00
	-23.81%	East Texas Bridge, Inc.	\$4.00	1,232.00	EA	\$4,928.00	-\$1,540.00
677 2003	ELIM EXT PAV MRK		\$0.50		LF	\$18,929.00	-
	-50.00%	H. H. Howard & Sons	\$0.25	37,858.00	LF	\$9,464.50	-\$9,464.50
	-50.00%	JW Payne Construction, LLC	\$0.25		LF	\$9,464.50	-\$9,464.50
	-48.00%	Longview Bridge and Road, Ltd.	\$0.26	•	LF	\$9,843.08	-\$9,085.92
	-40.00%	TJ Lambrecht Construction	\$0.30	•	LF	\$11,357.40	-\$7,571.60
	-50.00%	James Construction Group	\$0.25		LF	\$9,464.50	-\$9,464.50
	-46.00%	East Texas Bridge, Inc.	\$0.27		LF	\$10,221.66	-\$8,707.34

•

ltem	Description		Price		Qty		Unit	Ext. Amount	Deviation
680 2001	INSTAL OF HWY TRAF SIG (FLAS	HING BEACON)	\$17,50	00.00		1.00	EA	\$17,500.00	
	-14.29%	H. H. Howard & Sons	\$15,00	00.00		1.00	EA	\$15,000.00	-\$2,500.00
	-14.29%	JW Payne Construction, LLC	\$15,00	00.00		1.00	EA	\$15,000.00	-\$2,500.00
	-9.71%	Longview Bridge and Road, Ltd.	\$15,80	00.00		1.00	EA	\$15,800.00	-\$1,700.00
	- 8.57%	TJ Lambrecht Construction	\$16,00	00.00		1.00	EA	\$16,000.00	-\$1,500.00
	-14.29%	James Construction Group	\$15,00	00.00		1.00	EA	\$15,000.00	-\$2,500.00
	-5.71%	East Texas Bridge, Inc.	\$16,50	00.00		1.00	EA	\$16,500.00	-\$1,000.00
680 2002	INSTAL OF HWY TRAF SIG (ISO)		\$20,00	00.00		1.00	EA	\$20,000.00	
	-25.00%	H. H. Howard & Sons	\$15,00	00.00		1.00	EA	\$15,000.00	-\$5,000.00
	-25.00%	JW Payne Construction, LLC	\$15,00	00.00		1.00	EA	\$15,000.00	-\$5,000.00
	-21.00%	Longview Bridge and Road, Ltd.	\$15,80	00.00		1.00	EA	\$15,800.00	-\$4,200.00
	-20.00%	TJ Lambrecht Construction	\$16,00	00.00		1.00	EA	\$16,000.00	-\$4,000.00
	-25.00%	James Construction Group	\$15,00	00.00		1.00	EA	\$15,000.00	-\$5,000.00
	-17.50%	East Texas Bridge, Inc.	\$16,50	00.00		1.00	EA	\$16,500.00	-\$3,500.00
682 2001	BACK PLATE (3 SEC)(12 IN)		\$6	35.00		16.00	EA	\$1,040.00	
	-7.69%	H. H. Howard & Sons	\$6	50.00		16.00	EA	\$960.00	-\$80.00
	-7.69%	JW Payne Construction, LLC	\$6	60.00		16.00	EA	\$960.00	-\$80.00
	-3.08%	Longview Bridge and Road, Ltd.	\$6	53.00		16.00	EA	\$1,008.00	-\$32.00
	-3.08%	TJ Lambrecht Construction	\$6	53.00		16.00	EA	\$1,008.00	-\$32.00
	-7.69%	James Construction Group	\$6	50.00		16.00	EA	\$960.00	-\$80.00
	0.00%	East Texas Bridge, Inc.	\$6	35.00		16.00	EA	\$1,040.00	\$0.00
682 2003	BACK PLATE (5 SEC)(12 IN)		\$7	76.50		4.00	EA	\$306.00	
	-1.96%	H. H. Howard & Sons	\$7	75.00		4.00	EA	\$300.00	-\$6.00
	-1.96%	JW Payne Construction, LLC	\$7	75.00		4.00	EA	\$300.00	-\$6.00
	4.58%	Longview Bridge and Road, Ltd.	\$8	30.00		4.00	EA	\$320.00	\$14.00
	4.58%	TJ Lambrecht Construction	\$8	30.00		4.00	EA	\$320.00	\$14.00
	-1.96%	James Construction Group	\$7	75.00		4.00	EA	\$300.00	-\$6.00
	4.58%	East Texas Bridge, Inc.	\$8	30.00		4.00	EA	\$320.00	\$14.00
682 2012	LOUVERS (12 IN) (ADJUSTABLE)		\$20	00.00		20.00	EA	\$4,000.00	
	0.00%	H. H. Howard & Sons	\$20	00.00		20.00	EA	\$4,000.00	\$0.00
	0.00%	JW Payne Construction, LLC	\$20	00.00		20.00	EA	\$4,000.00	\$0.00
	5.00%	Longview Bridge and Road, Ltd.	\$21	10.00		20.00	EA	\$4,200.00	\$200.00
	5.00%	TJ Lambrecht Construction	\$2 ⁴	10.00		20.00	EA	\$4,200.00	\$200.00
	0.00%	James Construction Group	\$20	00.00		20.00	EA	\$4,000.00	\$0.00
	10.00%	East Texas Bridge, Inc.	\$22	20.00		20.00	EA	\$4,400.00	\$400.00
682 2022	VEH SIG SEC (12 IN) LED (GRN A		\$22	22.00		4.00	EA	\$888.00	• • • • • •
	-9.91%	H. H. Howard & Sons	\$20	00.00		4.00	EA	\$800.00	-\$88.00
	-9.91%	JW Payne Construction, LLC		00.00		4.00	EA	\$800.00	-\$88.00
	-5.41%	Longview Bridge and Road, Ltd.	-	10.00		4.00	EA	\$840.00	-\$48.00
	-5.41%	TJ Lambrecht Construction		10.00		4.00	EA	\$840.00	-\$48.00
	-9.91%	James Construction Group		00.00		4.00	EA	\$800.00	-\$88.00

•

*

ltem	Description		Price	Qty	Unit	Ext. Amount	Deviation
	-0.90%	East Texas Bridge, Inc.	\$220.00	4.00	EA	\$880.00	-\$8.00
682 2023	VEH SIG SEC (12 IN) LED (GRN)	-	\$262.00	20.00	EA	\$5,240.00	
	-23.66%	H. H. Howard & Sons	\$200.00	20.00	È EA	\$4,000.00	-\$1,240.00
	-23.66%	JW Payne Construction, LLC	\$200.00	20.00	EA	\$4,000.00	-\$1,240.00
	-19.85%	Longview Bridge and Road, Ltd.	\$210.00	20.00	EA	\$4,200.00	-\$1,040.00
	-19.85%	TJ Lambrecht Construction	\$210.00	20.00	EA	\$4,200.00	-\$1,040.00
	-23.66%	James Construction Group	\$200.00	20.00	EA	\$4,000.00	-\$1,240.00
	-16.03%	East Texas Bridge, Inc.	\$220.00	20.00	EA	\$4,400.00	-\$840.00
682 2024	VEH SIG SEC (12 IN) LED (YEL A	RW)	\$200.00	4.00	EA	\$800.00	
	0.00%	H. H. Howard & Sons	\$200.00	4.00	EA.	\$800.00	\$0.00
	0.00%	JW Payne Construction, LLC	\$200.00	4.00	EA	\$800.00	\$0.00
	5.00%	Longview Bridge and Road, Ltd.	\$210.00	4.00	EA	\$840.00	\$40.00
	5.00%	TJ Lambrecht Construction	\$210.00	4.00	EA	\$840.00	\$40.00
	0.00%	James Construction Group	\$200.00	4.00	EA	\$800.00	\$0.00
	10.00%	East Texas Bridge, Inc.	\$220.00	4.00	EA	\$880.00	\$80.00
682 2025	VEH SIG SEC (12 IN) LED (YEL)		\$230.00	36.00	EA	\$8,280.00	
	-13.04%	H. H. Howard & Sons	\$200.00	36.00	EA	\$7,200.00	-\$1,080.00
	-13.04%	JW Payne Construction, LLC	\$200.00	36.00	EA	\$7,200.00	-\$1,080.00
	-8.70%	Longview Bridge and Road, Ltd.	\$210.00	36.00	EA	\$7,560.00	-\$720.00
	-8.70%	TJ Lambrecht Construction	\$210.00	36.00	EA	\$7,560.00	-\$720.00
	-13.04%	James Construction Group	\$200.00	36.00	EA	\$7,200.00	-\$1,080.00
	-4.35%	East Texas Bridge, Inc.	\$220.00	36.00	EA	\$7,920.00	-\$360.00
682 2027	VEH SIG SEC (12 IN) LED (RED)		\$208.00	28.00	EA	\$5,824.00	
	-3.85%	H. H. Howard & Sons	\$200.00	28.00	EA	\$5,600.00	-\$224.00
	-3.85%	JW Payne Construction, LLC	\$200.00	28.00	EA	\$5,600.00	-\$224.00
	0.96%	Longview Bridge and Road, Ltd.	\$210.00	28.00	EA	\$5,880.00	\$56.00
	0.96%	TJ Lambrecht Construction	\$210.00	28.00	EA EA	\$5,880.00	\$56.00
	-3.85%	James Construction Group	\$200.00	28.00	EA	\$5,600.00	-\$224.00
	5.77%	East Texas Bridge, Inc.	\$220.00	28.00	EA	\$6,160.00	\$336.00
682 2028	BACK PLATE (1 SEC)(12 IN)	•	\$45.00	4.00	EA	\$180.00	
	0.00%	H. H. Howard & Sons	\$45.00	4.00	EA	\$180.00	\$0.00
	0.00%	JW Payne Construction, LLC	\$45.00	4.00	EA	\$180.00	\$0.00
	6.67%	Longview Bridge and Road, Ltd.	\$48.00	4.00	EA	\$192.00	\$12.00
	6.67%	TJ Lambrecht Construction	\$48.00	4.00	EA	\$192.00	\$12.00
	0.00%	James Construction Group	\$45.00	4.00	EA	\$180.00	\$0.00
	22.22%	East Texas Bridge, Inc.	\$55.00	4.00	EA	\$220.00	\$40.00
682 2029	BACK PLATE (2 SEC)(12 IN)		\$50.00			\$400.00	• • • •
	20.00%	H. H. Howard & Sons	\$60.00			\$480.00	\$80.00
	20.00%	JW Payne Construction, LLC	\$60.00	8.00		\$480.00	\$80.00
	26.00%	Longview Bridge and Road, Ltd.	\$63.00	8.00		\$504.00	\$104.00
	26.00%	TJ Lambrecht Construction	\$63.00			\$504.00	\$104.00

• ••

ltem	Description		Price	Qty	Unit	Ext. Amount	Deviation
	20.00%	James Construction Group	\$60.00	8.00	EA	\$480.00	\$80.00
	50.00%	East Texas Bridge, Inc.	\$75.00	8.00	EA	\$600.00	\$200.00
684 2008	TRF SIG CBL (TYA)(12	AWG)(3 CONDR)	\$1.70	248.00	LF	\$421.60	
	14.71%	H. H. Howard & Sons	\$1.95	248.00	LF	\$483.60	\$62.00
	14.71%	JW Payne Construction, LLC	\$1.95	248.00	LF	\$483.60	\$62.00
	20.59%	Longview Bridge and Road, Ltd.	\$2.05	248.00	LF	\$508.40	\$86.80
	17.65%	TJ Lambrecht Construction	\$2.00	248.00	LF	\$496.00	\$74.40
	14.71%	James Construction Group	\$1.95	248.00	LF	\$483.60	\$62.00
	17.65%	East Texas Bridge, Inc.	\$2.00	248.00	LF	\$496.00	\$74.40
684 2010	TRF SIG CBL (TYA)(12	AWG)(5 CONDR)	\$1.75	3,739.00	LF	\$6,543.25	
	14.29%	H. H. Howard & Sons	\$2.00	3,739.00	LF	\$7,478.00	\$934.75
	14.29%	JW Payne Construction, LLC	\$2.00	3,739.00	LF	\$7,478.00	\$934.75
	20.00%	Longview Bridge and Road, Ltd.	\$2.10	3,739.00	LF	\$7,851.90	\$1,308.65
	14.29%	TJ Lambrecht Construction	\$2.00	3,739.00	LF	\$7,478.00	\$934.75
	14.29%	James Construction Group	\$2.00	3,739.00	LF	\$7,478.00	\$934.75
	25.71%	East Texas Bridge, Inc.	\$2.20	3,739.00	LF	\$8,225.80	\$1,682.55
684 2012	TRF SIG CBL (TYA)(12	AWG)(7 CONDR)	\$1.75	958.00	LF	\$1,676.50	
	20.00%	H. H. Howard & Sons	\$2.10	958.00	LF	\$2,011.80	\$335.30
	20.00%	JW Payne Construction, LLC	\$2.10	958.00	LF	\$2,011.80	\$335.30
	25.71%	Longview Bridge and Road, Ltd.	\$2.20	958.00	LF	\$2,107.60	\$431.10
	14.29%	TJ Lambrecht Construction	\$2.00	958.00	LF	\$1,916.00	\$239.50
	20.00%	James Construction Group	\$2.10	958,00 :	LF	\$2,011.80	\$335.30
	31.43%	East Texas Bridge, Inc.	\$2.30	958.00	LF	\$2,203.40	\$526.90
685 2004	INSTL RDSD FLASH B	EACON ASSM (SOLAR PWRD)	\$5,000.00	2.00	EA	\$10,000.00	
	-3.00%	H. H. Howard & Sons	\$4,850.00	2,00	ΕA	\$9,700.00	-\$300.00
	-3.00%	JW Payne Construction, LLC	\$4,850.00	2.00	EA	\$9,700.00	-\$300.00
	2.00%	Longview Bridge and Road, Ltd.	\$5,100.00	2.00	EA	\$10,200.00	\$200.00
	2.00%	TJ Lambrecht Construction	\$5,100.00	2.00	EA	\$10,200.00	\$200.00
	-3.00%	James Construction Group	\$4,850.00	2.00	EA	\$9,700.00	-\$300.00
	6.00%	East Texas Bridge, Inc.	\$5,300.00	2.00	EA	\$10,600.00	\$600.00
686 2033	INS TRF PL AM (S) 1 A		\$6,000.00	2.00	EA	\$12,000,00	• • • • •
	8.33%	H. H. Howard & Sons	\$6,500.00	2.00	EA	\$13,000.00	\$1,000.00
	8.33%	JW Payne Construction, LLC	\$6,500.00	2.00	EA	\$13,000,00	\$1,000.00
	15.00%	Longview Bridge and Road, Ltd.	\$6,900.00	2.00	EA	\$13,800.00	\$1,800.00
	16.67%	TJ Lambrecht Construction	\$7,000.00	2.00	EA	\$14,000.00	\$2,000.00
	8.33%	James Construction Group	\$6,500.00	2.00	EA	\$13,000.00	\$1,000.00
	16.67%	East Texas Bridge, Inc.	\$7,000.00	2.00	EA	\$14,000.00	\$2,000.00
686 2037	INS TRF PL AM (S) 1 A		\$6,200.00	1.00	EA	\$6,200.00	+=,000.00
	12.90%	H. H. Howard & Sons	\$7,000.00	1.00	EA	\$7,000.00	\$800.00
	12.90%	JW Payne Construction, LLC	\$7,000.00	1.00	EA	\$7,000.00	\$800.00
	19.35%	Longview Bridge and Road, Ltd.	\$7,400.00	1.00	EA	\$7,400.00	\$1,200.00

•

ltern	Description		Price	Qty	Unit	Ext. Amount	Deviation
	19.35%	TJ Lambrecht Construction	\$7,400.00	1.00) EA	\$7,400.00	\$1,200.0
	12.90%	James Construction Group	\$7,000.00	1.00) EA	\$7,000.00	\$800.0
	29.03%	East Texas Bridge, Inc.	\$8,000.00	1.0		\$8,000.00	\$1,800.0
686 2041	INS TRF PL AM (S) 1 A	NRM (40') LUM	\$7,000.00	1.0		\$7,000.00	
	5.71%	H. H. Howard & Sons	\$7,400.00	1.0		\$7,400.00	\$400.0
	5.71%	JW Payne Construction, LLC	\$7,400.00	1.0		\$7,400.00	\$400.0
	11.43%	Longview Bridge and Road, Ltd.	\$7,800.00	1.0		\$7,800.00	\$800.0
	11.43%	TJ Lambrecht Construction	\$7,800.00	1.0		\$7,800.00	\$800.0
	5.71%	James Construction Group	\$7,400.00	1.0		\$7,400.00	\$400.0
	14.29%	East Texas Bridge, Inc.	\$8,000.00	1.0		\$8,000.00	\$1,000.0
686 2045	INS TRF PL AM (S) 1 A	ARM (44') LUM	\$7,200.00	1.0) EA	\$7,200.00	
	5.56%	H. H. Howard & Sons	\$7,600.00	1.0) EA	\$7,600.00	\$400.0
	5.56%	JW Payne Construction, LLC	\$7,600.00	1.0) EA	\$7,600.00	\$400.0
	11.11%	Longview Bridge and Road, Ltd.	\$8,000.00	1.0) EA	\$8,000.00	\$800.0
	12.50%	TJ Lambrecht Construction	\$8,100.00	1.0) EA	\$8,100.00	\$900.0
	5.56%	James Construction Group	\$7,600.00	1.0) EA	\$7,600.00	\$400.
	18.06%	East Texas Bridge, Inc.	\$8,500.00	1.0) EA	\$8,500.00	\$1,300.
686 2047	INS TRF PL AM (S) 1 A	ARM (48')	\$6,800.00	. 2.0) EA	\$13,600.00	
	-1.47%	H. H. Howard & Sons	\$6,700.00	2.0	D EA	\$13,400.00	-\$200.
	-1.47%	JW Payne Construction, LLC	\$6,700.00	2.0	D EA	\$13,400.00	-\$200.
	2.94%	Longview Bridge and Road, Ltd.	\$7,000.00	2.0		\$14,000.00	\$400.
	4.41%	TJ Lambrecht Construction	\$7,100.00	2.0) EA	\$14,200.00	\$600.
	-1.47%	James Construction Group	\$6,700.00	2.0	D EA	\$13,400.00	-\$200.
	17.65%	East Texas Bridge, Inc.	\$8,000.00	2.0) EA	\$16,000.00	\$2,400.
686 2049	INS TRF PL AM (S) 1 A	ARM (48') LUM	\$7,500.00	3.0) EA	\$22,500.00	
	13.33%	H. H. Howard & Sons	\$8,500.00	3.0	D EA	\$25,500.00	\$3,000.
	13.33%	JW Payne Construction, LLC	\$8,500.00	3.0	0 EA	\$25,500.00	\$3,000.
	20.00%	Longview Bridge and Road, Ltd.	\$9,000.00	3.0	D EA	\$27,000.00	\$4,500.
	20.00%	TJ Lambrecht Construction	\$9,000.00	3.0	D EA	\$27,000.00	\$4,500.
	13.33%	James Construction Group	\$8,500.00	3.0	D EA	\$25,500.00	\$3,000.
	20.00%	East Texas Bridge, Inc.	\$9,000.00	3.0		\$27,000.00	\$4,500.
3224 2022	2 D - GR HMA (QCQA) T		\$70.00	5,708.0		\$399,560.00	. ,
	10.00%	H. H. Howard & Sons	\$77.00	5 708.0		\$439,516.00	\$39,956.
	10.00%	JW Payne Construction, LLC	\$77.00	5,708.0		\$439,516.00	\$39,956.
	7.14%	Longview Bridge and Road, Ltd.	\$75.00	5,708.0		\$428,100.00	\$28,540.
	1.43%	TJ Lambrecht Construction	\$71.00	5,708.0		\$405,268.00	\$5,708.
	10.00%	James Construction Group	\$77.00	5,708.0		\$439,516.00	\$39,956.
	12.86%	East Texas Bridge, Inc.	\$79.00	5,708.0		\$450,932.00	\$51,372.
3224 2028			\$70.00	5,708.0		\$399,560.00	401,07 L
	10.00%	H. H. Howard & Sons	\$77.00	5,708.0		\$439,516.00	\$39,956.
	10.00%	JW Payne Construction, LLC	\$77.00	5,708.0		\$439,516.00	\$39,956.
	10.0070			5,100.0		ψ -1 39,510.00	400,000

• *~

ltem	Description		Price	Qty		Unit	Ext. Amount	Deviation
	7.14%	Longview Bridge and Road, Ltd.	\$75.00		5,708.00	TON	\$428,100.00	\$28,540.00
	-2.86%	TJ Lambrecht Construction	\$68.00		5,708.00	TON	\$388,144.00	-\$11,416.00
	10.00%	James Construction Group	\$77.00		5,708.00	TON	\$439,516.00	\$39,956.00
	12.86%	East Texas Bridge, Inc.	\$79.00		5,708.00	TON	\$450,932.00	\$51,372.00
3224 2041	D - GR HMA (QCQA) TY -	D SAC-A PG70 - 22	\$70.00		3,805.00	TON	\$266,350.00	
	14.29%	H. H. Howard & Sons	\$80.00		3,805.00	TON	\$304,400.00	\$38,050.00
	14.29%	JW Payne Construction, LLC	\$80.00		3,805.00	TON	\$304,400.00	\$38,050.00
	7.14%	Longview Bridge and Road, Ltd.	\$75.00		3,805.00	TON	\$285,375.00	\$19,025.00
	22.86%	TJ Lambrecht Construction	\$86.00		3,805.00	TON	\$327,230.00	\$60,880.00
	14.29%	James Construction Group	\$80.00		3,805.00	TON	\$304,400.00	\$38,050.00
	17.14%	East Texas Bridge, Inc.	\$82.00		3,805.00	TON	\$312,010.00	\$45,660.00
6007 2001	REMOV TRAFFIC SIGNAL	-	\$1,500.00		2.00	EA	\$3,000.00	
	66.67%	H. H. Howard & Sons	\$2,500.00		2.00	EA	\$5,000.00	\$2,000.00
	66.67%	JW Payne Construction, LLC	\$2,500.00		2.00	EA	\$5,000.00	\$2,000.00
	73.33%	Longview Bridge and Road, Ltd.	\$2,600.00		2.00	EA	\$5,200.00	\$2,200.00
	76.67%	TJ Lambrecht Construction	\$2,650.00		2.00	EA	\$5,300.00	\$2,300.00
	66.67%	James Construction Group	\$2,500.00		2.00	EA	\$5,000.00	\$2,000.00
	100.00%	East Texas Bridge, Inc.	\$3,000.00		2.00	EA	\$6,000.00	\$3,000.00
6266 2001	VIVDS PROCESSOR SYS	TEM	\$8,000.00		2.00	EA	\$16,000.00	
	12.50%	H. H. Howard & Sons	\$9,000.00		2.00	EA	\$18,000.00	\$2,000.00
	12.50%	JW Payne Construction, LLC	\$9,000.00		2.00	EA	\$18,000.00	\$2,000.00
	17.50%	Longview Bridge and Road, Ltd.	\$9,400.00		2.00	EA	\$18,800.00	\$2,800.00
	18.75%	TJ Lambrecht Construction	\$9,500.00		2.00	EA	\$19,000.00	\$3,000.00
	12.50%	James Construction Group	\$9,000.00		2.00	EA	\$18,000.00	\$2,000.00
	25.00%	East Texas Bridge, Inc.	\$10,000.00		2.00	EA	\$20,000.00	\$4,000.00
6266 2002	VIVDS CAMERA ASSEME	ILY	\$1,700.00		8.00	EA	\$13,600.00	
	5.88%	H, H. Howard & Sons	\$1,800.00		8.00	EA	\$14,400.00	\$800.00
	5.88%	JW Payne Construction, LLC	\$1,800.00		8.00	EA	\$14,400.00	\$800.00
	11.76%	Longview Bridge and Road, Ltd.	\$1,900.00		8.00	EA	\$15,200,00	\$1,600.00
	11.76%	TJ Lambrecht Construction	\$1,900.00		8.00	EA	\$15,200.00	\$1,600.00
	5.88%	James Construction Group	\$1,800.00		8.00	EA	\$14,400.00	\$800.00
	17.65%	East Texas Bridge, Inc.	\$2,000.00		8.00	EA	\$16,000.00	\$2,400.00
6266 2003	VIVDS SET-UP SYSTEM	3 1	\$1,400.00		1.00	EA	\$1,400.00	
	-57.14%	H. H. Howard & Sons	\$600.00		1.00	EA	\$600.00	-\$800.00
	-57.14%	JW Payne Construction, LLC	\$600.00		1.00	EA	\$600.00	-\$800.00
	-55.00%	Longview Bridge and Road, Ltd.	\$630.00		1.00	EA	\$630.00	-\$770.00
	-54.57%	TJ Lambrecht Construction	\$636.00		1.00	EA	\$636.00	-\$764.00
	-57.14%	James Construction Group	\$600.00		1.00	EA	\$600.00	-\$800.00
	-52.86%	East Texas Bridge, Inc.	\$660.00		1.00	EA	\$660.00	-\$740.00
6266 2005			\$2.75		1,651.00	LF	\$4,540.25	41 10.00
	9.09%	H. H. Howard & Sons	\$3.00		1,651.00	LF	\$4,953.00	\$412.75

د مه

Item	Description		Price	Qty		Unit	Ext. Amount	Deviation
	9.09%	JW Payne Construction, LLC	\$3.00		1,651.00	LF	\$4,953.00	\$412.75
	14.55%	Lorigview Bridge and Road, Ltd.	\$3.15		1,651.00	LF	\$5,200.65	\$660.40
	16.36%	TJ Lambrecht Construction	\$3.20)	1,651.00	LF	\$5,283.20	\$742.95
	9.09%	James Construction Group	\$3.00)	1,651.00	LF	\$4,953.00	\$412.75
	20.00%	East Texas Bridge, Inc.	\$3.30)	1,651.00	LF	\$5,448.30	\$908.05
6986 2014		NNTY TYB (Y) 7"(SLD) CNST	\$5.96		960.00	LF	\$5,721.60	
	51.01%	H. H. Howard & Sons	\$9.00)	960.00	LF	\$8,640.00	\$2,918.40
	51.01%	JW Payne Construction, LLC	\$9.00) 1	960.00	LF	\$8,640.00	\$2,918.40
	58.56%	Longview Bridge and Road, Ltd.	\$9.45		960.00	LF	\$9,072.00	\$3,350.40
	59.40%	TJ Lambrecht Construction	\$9.50)	960.00	LF	\$9,120.00	\$3,398.40
	51.01%	James Construction Group	\$9.00)	960.00	LF	\$8,640.00	\$2,918.40
	67.79%	East Texas Bridge, Inc.	\$10.00	1	960.00	LF	\$9,600.00	\$3,878.40
8251 2003	B RE PM W/RET RE	Q TY I (W)(4")(BRK)(100 MIL)	\$0.35		1,530.00	LF	\$535.50	
	37.14%	H. H. Howard & Sons	\$0.48	ł	1,530.00	LF	\$734.40	\$198.90
	37.14%	JW Payne Construction, LLC	\$0.48		1,530.00	LF	\$734.40	\$198.90
	42.86%	Longview Bridge and Road, Ltd.	\$0.50	1	1,530.00	LF	\$765.00	\$229.50
	42.86%	TJ Lambrecht Construction	\$0.50	1	1,530.00	LF	\$765.00	\$229.50
	37.14%	James Construction Group	\$0.48		1,530.00	LF	\$734.40	\$198.90
	51.43%	East Texas Bridge, Inc.	\$0.53		1,530.00	LF	\$810.90	\$275.40
8251 2006	B RE PM W/RET RE	Q TY I (W)(4")(SLD)(100 MIL)	\$0.32		39,860.00	LF	\$12,755.20	
	50.00%	H. H. Howard & Sons	\$0.48	1	39,860.00	LF	\$19,132.80	\$6,377.60
	50.00%	JW Payne Construction, LLC	\$0.48	l.	39,860.00	LF	\$19,132.80	\$6,377.60
	56.25%	Longview Bridge and Road, Ltd.	\$0.50		39,860.00	LF	\$19,930.00	\$7,174.80
	56.25%	TJ Lambrecht Construction	\$0.50)	39,860.00	LF	\$19,930.00	\$7,174.80
	50.00%	James Construction Group	\$0.48		39,860.00	LF	\$19,132.80	\$6,377.60
	65.63%	East Texas Bridge, Inc.	\$0.53	1	39,860.00	LF	\$21,125.80	\$8,370.60
8251 2010) RE PM W/RET RE	Q TY I (Y)(4")(SLD)(100 MIL)	\$0.32		39,415.00	LF	\$12,612.80	• •
	50.00%	H. H. Howard & Sons	\$0.48		39,415.00	LF	\$18,919.20	\$6,306.40
	50.00%	JW Payne Construction, LLC	\$0.48		39,415.00	LF	\$18,919.20	\$6,306.40
	56.25%	Longview Bridge and Road, Ltd.	\$0.50		39,415.00	LF	\$19,707.50	\$7,094.70
	56.25%	TJ Lambrecht Construction	\$0.50		39,415.00	LF	\$19,707.50	\$7,094.70
	50.00%	James Construction Group	\$0.48		39,415.00	LF	\$18,919.20	\$6,306.40
	65.63%	East Texas Bridge, Inc.	\$0.53		39,415.00	LF	\$20,889.95	\$8,277.15
8251 2021	RE PM W/RET RE	Q TY I (Y)(4")(BRK)(100 MIL)	\$0.35		1,990.00	LF	\$696.50	40,20
	37.14%	H. H. Howard & Sons	\$0.48		1,990.00	LF	\$955.20	\$258.70
	37.14%	JW Payne Construction, LLC	\$0.48		1,990.00	LF	\$955.20	\$258.70
	42.86%	Longview Bridge and Road, Ltd.	\$0.50		1,990.00	LF	\$995.00	\$298.50
	42.86%	TJ Lambrecht Construction	\$0.50		1,990.00	LF	\$995.00	\$298.50
	37.14%	James Construction Group	\$0.48		1,990.00	LF	\$955.20	\$258.70
	51.43%	East Texas Bridge, Inc.	\$0.53		1,990.00	LF	\$1,054.70	\$358.20
8251 9999		<u>Q TY</u> I (W)(8")(SLD)(100 MIL)	\$0.63		385.00	LF	\$242.55	ψ000.20

•-

Item	Description		Price	Qty	Unit	Ext. Amount	Deviation
	58.73%	H. H. Howard & Sons	\$1.00	385.00	LF	\$385.00	\$142.45
	58.73%	JW Payne Construction, LLC	\$1.00	385.00	LF	\$385.00	\$142.45
	66.67%	Longview Bridge and Road, Ltd.	\$1.05	385.00	LF	\$404.25	\$161.70
	74.60%	TJ Lambrecht Construction	\$1.10	385.00	LF	\$423.50	\$180.95
	58.73%	James Construction Group	\$1.00	385.00	LF	\$385.00	\$142.45
	74.60%	East Texas Bridge, Inc.	\$1.10	385.00	LF	\$423.50	\$180.95
8295 2001	RADAR ADVAN	ICE DETECTION DEVICE	\$8,500.00	2.00	EA	\$17,000.00	
	2.94%	H. H. Howard & Sons	\$8,750.00	2.00	EA	\$17,500.00	\$500.00
	2.94%	JW Payne Construction, LLC	\$8,750.00	2.00	EA	\$17,500.00	\$500.00
	7.06%	Longview Bridge and Road, Ltd.	\$9,100.00	2.00	EA	\$18,200.00	\$1,200.00
	9.41%	TJ Lambrecht Construction	\$9,300.00	2.00	EA	\$18,600.00	\$1,600.00
	2.94%	James Construction Group	\$8,750.00	2.00	EA	\$17,500.00	\$500.00
	11.76%	East Texas Bridge, Inc.	\$9,500.00	2.00	EA	\$19,000.00	\$2,000.00
9999 9999	WIRELESS MA	GNETOMETER VEHICLE DETECTION SYSTEM	\$25,000.00	2.00	EA	\$50,000.00	
	-71.50%	H. H. Howard & Sons	\$7,125.00	2.00	EA	\$14,250.00	-\$35,750.00
	-71.50%	JW Payne Construction, LLC	\$7,125.00	2.00	EA	\$14,250.00	-\$35,750.00
	-70.40%	Longview Bridge and Road, Ltd.	\$7,400.00	2.00	EA	\$14,800.00	-\$35,200.00
	-70.00%	TJ Lambrecht Construction	\$7,500.00	2.00	EA	\$15,000.00	-\$35,000.00
	-71.50%	James Construction Group	\$7,125.00	2.00	EA	\$14,250.00	-\$35,750.00
	-68.00%	East Texas Bridge, Inc.	\$8,000.00	2.00	EA	\$16,000.00	-\$34,000.00

4* - 5

ATTACHMENT

#2



To: Titus County Commissioners Court
From: Jennie N. Taraborelli
Date: March 16, 2012
RE: Titus County Pass-Through Program Status Report

MEMORANDUM

Status

3

To keep the Titus County Commissioners Court fully updated as to the progress of the Titus County Pass-Through Program, PTP Transportation (PTP) offers the following status report.

Environmental

Groundwater Contamination

Test results for the "Ghost Tank" removal on the former Cameron Auto Sales site were obtained and showed contamination of the shallow groundwater at the site. Preparation of the UST Removal and Release Determination Report was completed to and will be submitted to Texas Commission on Environmental Quality (TCEQ) on March 16. PTP will wait for TCEQ to review the report before proceeding with the installation of additional monitoring wells. In the meantime, the contaminated soil removed from underneath the piping leak will be tested and classified for landfilling. This will allow the soil to landfilled and the slabs to be removed.

Right of Way

FM 1000

Right of way acquisition for the FM 1000 project is ongoing. Two important parcels, JayTex and Tractor Supply, are scheduled to close within the next 10 days. The remaining seven (7) parcels are scheduled for condemnation. All parcels should be obtained, either through acquisition or condemnation, by April 29. This will allow for the letting of the FM 1000 project by the first of May.

Construction

US 271

Progress on the road construction continues. As of March 14, 65 total working days had been charged against the total 663 contracted working days. Since the start of construction 21 rain days have been recorded.

The project has seen modest but steady progress over the past two weeks. Major storm sewer construction has been completed by North Texas Construction in preparation for embankment operations. Bridge foundation stabilization operation (stone columns), being progressed by Hayward Baker, is nearing 75% completion. Embankment operations have begun in earnest on the mainlanes of US 271 on the south end of the project, directly adjacent to the Prefiert property. This work is being handled by dirt work subcontractor, T.J. Lambrecht. The prime contractor, Williams Brothers, has completed set-up of their pug mill (sand plant) and is moving towards set-up of the concrete plant. The recent rains this past weekend, almost 4 1/2 inches, will result in a minor setback, but the contractors are confident they can regain any lost time with some good weather.

FM 2348

On February 21, 2012, PTP Transportation (PTP), on behalf of Titus County, advertised for bids for the above referenced project. On Tuesday, March 13, 2012, Titus County accepted bids. A total of six bids were received and PTP publicly read the bid submittals. Upon review of the bids, PTP has determined that H. H. Howard and Sons, Inc. was the lowest and most responsive bidder with a bid amount of \$8,512,733.79. For the Court's review, PTP has distributed the bid analysis and the Request for Concurrence, which was submitted to the Texas Department of Transportation on March 14, 2012. Upon the execution of the contract, H. H. Howard will have 30 days in which to place payment and performance bonds with the County. At that point, a preconstruction meeting will be scheduled and a start date for construction will be agreed upon.

Critical Path

- Ongoing construction work for US 271.
- Award of the FM 2348
- Acquisition of right-of-way for FM 1000